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‘}L.J‘}’\J"}F&SQQ\S}(Z)WQ)’r‘}Twl’c‘bﬂLl&:ﬂyb

Al Jhd iy Eoad Ay

Toogt (N Jguadly R (2.100) (puoledl dadl pliiizaaly JoH £ igacd -1
Wity adlati UL

. >dall
At |23 als]|e| 7|89 0N >
33 |3[1 o361 [a|1]2]a]0] 5
60 |1|2/oloo]1]1 2103 135

st |1|1|lafl2lo]2]o0]3|o]|1]0] 187

L6 | 06|69 ]12]14]18]24]24]27]30

(sPU M gt a5 PE ANy Vol il oo I
Ol Lol sae = 3x1 + x2 + 3x4 + x6 + x8 + 2x9 + x8 + 2x9 + 4x10
(33) o~
(60) 5 m dxmzll islalll sae = | +2x2 + x6 + x7 + 2x9 + 3x10
(51) so il Bl sase = | + X2 + 43 + 2x4 + 2%6 + X3 + x
< pllall adt ace LBl e Laslall saall O 4SS

YI=1Ixl +x2+3x4 +6x5+x6+4x7 + x8 + 2x9 + 4x10 =15
Y2=1=1x2+x6+x7+2x9+3xll =151
Y3 =x]+x2+4x3 +2x6 + 3x7 + x9 + x9 =187
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Ikt JS2, Shea o Sty S s o

e il o SN LM S 0 555 U
L (6X2+6x3+94+12x5+1 5x6+18x7+24x8+24x9+27x10+30x11)

JUM o2y WIS 8 ik el SN LA Sy bl Al Jub L oo
ZSJ’A|J&‘$&l¢J5|CSrJ|&=¢Q&|%JY3 JY2.Y1 B

Zmin=06x2+6x3+6 x4+ 12xs+15x) +24 x5 +24 x9+ 27 x10 + 30 x1y

Subject To:

3X =X +3x4+O6Xs+Xe+4X7+Xg+2X9+4X10=5
X+ 2 x> +Xet X7+2Xx9+3x1,=154

X) +Xo+4x3+2 x4 +2%xe+2Xg+ X10= 187

XL ceverrnnnnrereneneeians X, 20

'QUUiygﬂ\i)M!&w,dohycarJldﬁ&\.l,»}_,
Imin=6X+6x; +9xg+ 12 xXs+ IS5 xs+ X7+ 24 xg + 24 x9 + 27 X0 + 30
xn + MR1 MR2 + MR2

Subject To:

IX + X2+ 3X4+O6Xs+Xe+4d X9+ Xg+2Xo+4 X0+ R1I=5
X1+ 2 X» +Xo+ X7+2X9+3 % +R2=154
X)+Xo+4x3+2x,+2%x6+3 %3+ X0+ R3I=187

D TP, 5 T XnZO

R1,R2,R320

S gt o ] AN o &kl 5 5mall Jo 5l M 5 gul iy Am
Linear Programming sl 2 (3 Jlo) &l (BIG - M) Ll 5, ally )41
Analysis
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Zmin = 5M x; + (4M-6) x; + (4M-6) x3 + (IM-9) x4 + (6M-12) xs +
(4M-5) xs + (5M-18) x7 + (4M-24) x3 + (4M-24) x9 + (5M-27) x10

+ (3M-30) x1»
Subject To:
3 x| +x; +3xX3+6Xs+Xe+tdX7+Xg+2X9+4 X0+ Rl =5
X+ 2 X, + Xt Xq +2x9+3x,,+R2=154
X)X+ 4 X3 +2x,+2X, + 3 xg +Xx10+ R3=187
X1 X2 ceeennnnneencecacnnnens xn20
R1,R2,R320
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* LINEAR PROGRAMMING

L
E

ANALYSIS

L
-
*
*

I RIS R R E 33T i i 2 R2 2l ]ty

** INFORMATION ENTERED **

NUMBER OF CONSTRAINTS
NUMBER OF VARIABELS

NUMBER FO = CONSTRAINTS
NUMBER OF >= CONSTRAINTS

3
l
NUMBER OF <= CONSTRAINTS 0
3
0

ITERATION 0

X12=35
X 13=154
X 14 =187

~ Basis M R R2 RS
X1 S0FE+ 3.000 | 1.000 | 1.000 |
X2 0.40E+13 | 1.000 | 2.000 | 1.000
X3 0.40E+13 | 0.000 | 0.000 | 4.000
X343 | O.50E+I3 | 3.000 | 0.000 | 2.000
X3 GOE+ 6.000 0.000 0.000 |
X6 | 040FE+I3 | 1.000 | 1.000 | 2.000
X7 | 030E+I3 | 4.000 | 1.000 | 0.000
X3 0.430E+13 | 1.000 | 0.000 | 3.000
X9 [ 040E+I3 [ 2.000 | 2.000 | 0.000
XT10 | 0.30E+13 | 4.000 | 0.000 | 1.000
XT1T [ 0.30E+I3 | 0.000 | 3.000 | 0.000
R1 0.00E+13 | 1.000 | 0.000 | 0.000
R 2 0.00E+13 | 0.000 | T1.000 | 0.000
R3 0.00E+13 | 0.000 | 0.000 | 1.000

“SOLU | 0.33E+13 133.0 137.0

OBJECTIVE FUNCTION VALUE: 3.46E+14
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ITERATION |
BASIS

XS =.8333334
X 13=154

X 14=187

ITERATION 2
BASIS

X3 =46.75

X5 =0.8333334
X 14

154

ool Jeadlt

" Basis | CU) - X3 R2 R3
X | 20E+13 | 0.500 1000 | 1.000
X2 0.30E+13 0.160 2.000 1.000
X3 0.40E+13 0.000 0.000 4.000
X3 0.20F+13 | 0.500 | 0.000 | 2.000 |
X3 0.00E+12 1.000 0.000 0.000
X6 0.30E+13 0.160 1.000 2.000
X 7 ] + 0.660 1.000 0.000
X8 0.30E+13 0.160 0.000 3.000
X9 0.20E+13 0.330 2.000 0.000
X 10 O.10E+13 0.660 0.000 1.000
X 11 0.30E+13 0.000 ) 0.000
R - JOE+I13 0.160 0.000 0.000
R2 0.00E+12 0.000 1.000 0.000
R3J3 0.00E+12 0.000 0.000 1.000
SOLU | 0.33E+13 | 0.830 | 133.0 187.0
OBJECTIVE FUNCTION VALUE: 341E+14
" Basis | C()) - X3 RD X3
X1 JOE+I3 | 0.500 | T1.000 | 0.230
X2 0.20E+13 | 0.160 | 2.000 | 0.230
X3 0.00E+13 0.000 0.000 1.000
X4 0.00E+13 0.500 0.000 0.500
X)) 0.00E+12 1.000 0.000 0.000
X0 0.10E+13 0.160 1.000 0.500
X 7 0.10E+13 0.660 1.000 0.000
X8 - 18E+13 0.160 0.000 0.750
X9 0.20E+13 0.330 2.000 0.000
X 10 - 18E+02 0.660 0.000 0.230
X 11 0.30E+]13 0.000 3.000 0.000
R - J0E+13 0.160 0.000 0.000
R2 0.00E+12 0.000 1.000 0.000
- J0E+13 0.000 0.000 0.230
OBJECTIVE FUNCTION VALUE: 1.54E+14
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ITERATION 3

BASIS

X3 =46.75
XS5 =.8333334
X 14=51.33334

ITERATION 4
BASIS

X1 =1.666667
X3 =46.33333
X 11 =50.77778

o

™ Basis %'(PG'E%_ X3 R2 3
X | . 0.500 | 0.300 0.2
X2 0.18E+H)2 0.160 0.600 0.2
X3 0.00E+]2 0.000 0.000 1.0
X4 0.00E+00 | 0.500 | 0.000 0.3
X)) 0.00E+12 1.000 0.000 00
X6 0.00E+00 0.160 0.330 0.5
X7 0.00E+00 0.660 0.330 0.0
X8 - 18E+02 0.160 0.000 0.7
X9 0.00E+00 0.330 0.660 0.0
X 10 - 18E+02 0.660 0.000 0.2
X 11 O0E+ 0.000 1.000 0.0
R 1 - 10E+13 0.160 0.000 0.0
R2 - 10E+13 0.000 0.330 0.0
R3 -00E+13 0.000 0.000 0.2
SOLU 0.830 | 31.33 46

OBJECTIVE FUNCTION VALUE: 1830

" Basis M X3 R2 X3
X1 O00E+ 0.500 | T1.000 | 0.250 |
X3 0.00E+12 | 0.000 | 0.000 | 1.000 |
X3 -ISE+02 | 0.500 | 0.000 | 0.500
X3 | -033E+02 | T1.000 | 0.000 | 0.000
X6 -38E+0T | 0.160 | T1.000 | 0.500

— X7T | -23E+ 0.660 | 1.000 | 0.000 |

X8 - J3FE+02 | 0.160 | 0.000 | 0.750
X9 -TJE+02 | 0.330 | 2.000 | 0.000
XT10 | -41E+02 | 0.660 | 0.000 | 0.250 |
X1T [ 0.00E+I2 | 0.000 | 3.000 | 0.000
R1 -TOE+13 | 0.160 | 0.000 | 0.000
R2 -TOE+I3 | 0.000 | 1.000 | 0.000

—R3 | -.I0E+ 0.000 | 0.000 | 0.250 |

OLU | O.IBE+03 | 0.830 | 1330 | 36.15 |
OBJECTIVE FUNCTION VALUE: 1801.33
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ITERATION 5

BASIS
X2 =5

X3 =455

X11=48

J)LJ‘ J.‘.J‘

Basis |C()-ZU) | X5 R2 R3
X1 | -35E+02 | 3.000 | -1.67 | -.50
X2 | 0.00E+12 | 1.000 | 0.000 | 0.00
X3 | 0.00E+i2 | 0.000 | 0.000 | 1.00
X4 | -53E+02 | 3.000 | -2.00 | -.25
X5 | -.11E+03 | 6000 | 4.00 | -1.5
X6 | -.18E+02 | 1.000 | -3.00 | 025
X7 | -.70E+02 | 4.000 | -2.34 | -1.0
X8 | -35E+02 | 1.000 | -670 | 05
X9 | -35E+02 | 2.000 | -.670 | -.50
X 10 | -88E+02 | 4.000 | -2.67 | -.70
X 11_| 0.00E+12 | 0.000 | 1.000 | 0.0
R1_| -10E+13 | 1.000 | -670 | -2
R2 | -10E+13 | 0.000 | 300 | 00
R3 | -10E+13 | 0.000 | 0.000 | 02

SOLU | 0.17E+04 | 5.000 | 48.00 | 45

THE VARIABLES WHICH FORM THE

SOLUTION SPACE

X2 =5
=45.5
X11=48

X3

OBJECTIVE FUNCTION VALUE: 1743
TOTAL SCRAP =260 * 1743 = 4531
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-l ‘ .lh. .|| n' .I',! in’E D I n.”
. sl
Adi[12]3)afs]e|7]8|o]10]n]2| 25,
33 213[S5(|(1|o]3[1]O|3]6]|1(|4 5
60 |[o|2|o|3|1t|1|2]0]|ofo]|1]|1] 153
h]| 3(o0j1 O3 |1]1]|]4]2]0]2]0 187
GG |1 1]4]7]7]10]16]16]19]22]25]28
) gall o p0U N #5501 0,5 Ll

Zmax = (5M-1) x; + (5M-1) x; + (6M-4) x; + (4M-7) x4 + (4M-7) xs +
(5M-10) x¢ + (4M-16) x7 + (4M-18) xz + (5M-19) xo + (6M-22) x;0
+ (4M-25) x;; + (5M-25) x;» + MRI] + MR2 + MR3

Subject To:

2X) + 3x2 + 5x3 + x4 + 3Xe + X7+ 3X9 + 6X10 + X + 9x;2+ R1 =5
2X, +3x, +tXs+ X + X7+ X; + X2+ R2=154

3x, + X3 + 3Xg + Xo + X7+ 4Xg+ 2x9 + 2X; + R3 =187

1 el ) o) Sy Lol 3 ol § 23 gadl g 05 O
R, C)u-‘ J:.i:l‘., X0 J,'-‘JJ‘ J.s'l:l‘
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LINEAR PROGRAMMING

ANALYSIS

*
*
L
*
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** INFORMATION ENTERED **

NUMBER OF CONSTRAINTS 3
NUMBER OF VARIABELS 12
NUMBER OF <= CONSTRAINTS 0
NUMBER FO = CONSTRAINTS 3

NUMBER OF >= CONSTRAINTS 0

ITERATION 0

X12=5

X13=154
X 14 =187

J)LJ‘ H‘

Basis | C()) - Z(J)) R1 R2 R3
X1 0.50E+13 2.000 0.000 3.000
X2 0.50E+13 3.000 2.000 0.000
X3 0.60E+13 5.000 0.000 1.000
X4 0.40E+13 1.000 3.000 0.000
XS 0.40E+13 | 0.000 1.000 3.000
X6 0.50E+13 3.000 1.000 1.000
X7 0.40E+13 1.000 2.000 1.000
X8 0.40E+13 | 0.000 0.000 4.000
X9 0.50E+13 3.000 0.000 2.000
X10 | 0.60E+13 | 6.000 0.000 0.000
X1l 0.40E+13 1.000 1.000 2.000
X 12 0.30E+13 | 0.000 3.000 0.000
R 1 0.00E+12 1.000 0.000 0.000
R2 0.00E+12 | 0.000 1.000 0.000
R3 0.00E+12 | 0.000 0.000 1.000
SOLU | 0.35E+13 5.000 154.0 187.0

OBJECTIVE FUNCTION VALUE: 3.46E+14
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ITERATION |
BASIS

X3 =1
X14=154
X15=186
ITERATION 2
BASIS

X3 =1

XS5 =62
X14=92

135

" Basis CQ) - 2 R1 "RJ 1 &]
X | O%ET.?_W 0.000 | 2.000 |
X2 0.14dE+13 0.660 2.000 -.100
X3 0.00E+12 0.000 0.000 0.000
X4 0.28E+13 1.000 3.000 -1.00
X 0.40E+12 0.200 1.000 3.000
X6 0.14dE+13 0.600 1.000 0.000
X7 0.28E+13 0.200 2.000 0.000
X8 0.40E+13 0.000 0.000 4.000
X9 0.T4E+13 0.600 0.000 1.000

X 10 - 12E+13 0.200 0.000 -1.00
X 11 0.28E+13 0.200 0.000 - 100
X 12 0.30E+13 0.000 3.000 0.000
R 1 - 12E+13 0.200 0.000 - 100
R 2 0.00E+12 0.000 1.000 0.000
R3 0.00E+12 0.000 0.000 1.000
SOLU ¥ T000 | 133.0 I87.0

OBJECTIVE FUNCTION VALUE: 3.46E+14

" Basis | C 71%)_ R1 R2 R3
X1 -.H 5E+ —0.400 870 0.860 |
X2 - 22E+13 0.600 2.200 0.000
X 3 0.00E+13 1.000 0.000 -.070
X4 0.3]1E+13 0.200 3.000 1.000
X 0.00E+13 0.000 0.000 0.130
X0 0.87E+13 0.600 0.860 0.260
X/ 0.17e+13 0.200 1.730 1.330
X3 - 13E+13 0.000 -1.34 1.330
X9 -4/E+13 0.600 -.41/0 0.460
X 10 0.40E+13 1.200 0.400 -.410
X1l 0.40E+13 0.200 0.39 0.600
X 12 0.30E+13 0.000 3.000 0.000
R 1 -93k+13 0.200 0.060 -.070
K2 0.00E+13 0.000 1.000 0.000
R3 - J3k+13 0.000 -.340 0.330

OBJECTIVE FUNCTION VALUE: 9.2E+13




J)LJ‘ J.‘.J'

TERATION 3
BASIS
X3 =5
XS =62.33333
X 14 = 76.66666
Basis | C()-2(J) | RI R2 R3
X1 | -70E+13 | 2.000 | -7.00 | 1.000
X2 | -70E+13 | 3.000 | -7.00 | 0.000
X3 | -ISE+I3 | 5.000 | -153 | 0.300
X4 | 0.00E+13 | 1.000 | 0.000 | 0.000
X5 | 0.00E+I3 | 0.000 | 0.000 | 1.000
X6 | -83E+13 | 3.000 | 834 | 0.300
X7 | -I3E+13 | 1.000 | -1.34 | 0.300
X8 | -13E+13 | 0.000 | -1.34 | 1.300
X9 | -97E+I13 | 3.000 | -9.67 | 0.000
X10 | -.18E+13 | 6000 | -180 | 0.000
X 11 | -27E+13 | 1.000 | -2.67 | 0.000
X12_| 0.30E+13 | 0.000 | 3.000 | 0.000
R1_| 040E+13 | 1.000 | -3.00 | 0.000
R2 | 0.00E+13 | 0.000 | 1.000 | 0.000
R3 | -.13E+13 | 0.000 | -340 | 0.000
SOLU | 0.77E+14 | 5.000 | 76.66 | 62.00

OBJECTIVE FUNCTION VALUE: 7.67E+
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doielly (2.300) (uokydd dagh pliizuly riolosd Eisath ilges -2

S| 1|2(3(4a]s]|e]|7]|8]|9w0|n|12|13 :ﬂ|
33 |2(s|of3]2|s|[1]|o|3|1]|o|3]6]| 5
60 |tf1]2[2]0]0 1{1]2]oflo]o] 153
st [2]of2fo|3|1fo|3|1t|[1]|4]2][0] 187
GG | 2[s|s|{u|nfa]17]17]20]2626[29]32

:33)“1‘«)‘&5""‘1)‘C3)“J|':’)&“H‘*”
Zmax = (5M-2) x; + (6M-5) x> + (4M-8) x; + (SM-11) xy + (5M-11) x5 +
(6M-14) x¢ + (4M-17) x7 + (4M-17) x5 + (5M-20) x9 + (4M-26) x10
+ (4M-26) x, + (5M-29) x,, + (6M-32) x,; +MRI| + MR2 + MR3

Subject To:

2X +5%x2+3xg +2Xs+5%Xs+X7+3Xo+X10+3 X, +6x,2+RI=5
Xp+Xs +2x3 42X +3x7+x3+1x+2%,0+x3+tR2=154

2x; + 2Xx3+ 3 X+ X +3 X5+ Xg+ X0 t4 X,y + R3=187

> TS S X320

R1,R2,R320

QC:”_“ c.o,&\ ¢|J>!Q¢JJ|‘.;£Z_.“L:3\ d)yécé‘,‘_“ el dn
kb 2okt Jglad !
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* LINEAR PROGRAMMING

L
E

ANALYSIS

L
-
*
*

I RIS R R E 33T i i 2 R2 2l ]ty

** INFORMATION ENTERED **

NUMBER OF CONSTRAINTS 3
NUMBER OF VARIABELS 13
NUMBER OF <= CONSTRAINTS 0
NUMBER FO = CONSTRAINTS 3

NUMBER OF >= CONSTRAINTS 0

ITERATION 0

X12=5
X13=1
X14=]

54
87

oLt Jeadlt

Basis | C(j) - Z(J)) RS R2 R3
X1 0.50E+13 2.000 1.000 2.000
X2 0.60E+13 5.000 1.000 0.000
X3 0.40E+13 | 0.000 2.000 2.000
X4 0.50E+13 3.000 2.000 0.000
XS5 0.50E+13 2.000 0.000 3.000
X6 0.60E+13 5.000 0.000 1.000
X7 0.40E+13 1.000 3.000 0.000
X8 0.40E+13 | 0.000 1.000 3.000
X9 0.50E+13 3.000 1.000 1.000
X10 | 040E+13 1.000 2.000 1.000
X1l 0.40E+13 | 0.000 0.000 4.000
X 12 0.S0E+13 3.000 0.000 2.000
X13 0.60E+13 | 6.000 0.000 0.000
R1 0.00E+13 1.000 1.000 0.000
R2 0.00E+13 | 0.000 0.000 0.000
R3 0.00E+13 | 0.000 0.000 1.000

SOLU | 0.35E+1S 5.000 154.0 187.0
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ITERATION 1
BASIS

X1 =1
X14=153

X 15=187

Basis | C()) - Z(J) R1 R2 R3

X1 0.26E+13 | 0.400 | 0.000 0.60

X2 0.00E+13 1.000 2.000 0.00

X3 0.40E+12 | 0.000 | 0.000 2.00

X4 0.14E+13 | 0.600 3.000 1.40

X5 0.26E+12 | 0.400 1.000 -0.40

X6 0.00E+13 1.000 1.000 -1.00

X7 0.28E+13 | 0.200 | 2.000 2.00

X8 0.40E+13 | 0.000 0.000 1.00

X9 0.14E+13 | 0.600 | 0.000 0.39

X10 | 0.28E+13 | 0.200 | 0.000 1.80

X1l 0.40E+13 | 0.000 1.000 0.00

X 12 0.14E+13 | .0.600 | 3.000 -0.61

X13 - 12E+13 1.200 3.000 -1.21

R1 -.12E+13 0.200 [ 0.000 -.20

R2 0.00E+12 | 0.000 1.000 1.00

R3 0.00E+12 | 0.000 | 0.000 0.00

SOLU | 0.34E+1S 1.000 154.0 153.0

OBJECTIVE FUNCTION VALUE: 3.46E+14
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ITERATION 2
BASIS
X2 =1
X3 =765
R3=34
Basis | C()-Z(J) XS5 X2 X3
X1 0.14E+13 | 0.400 | 0.300 1.400
X2 0.00 E+12 | 1.000 | 0.000 0.000
X3 0.00E+13 | 0.000 1.000 0.000
X4 -.14E+13 0.600 [ 0.700 | -1.400
XS 0.34E+13 | 0.400 | -0.200 | 3.400
X6 0.20E+13 1.000 | -0.500 [ 2.000
X7 -.28E+13 0.200 1.400 | -2.800
X8 0.20E+13 | 0.000 | 0.500 2.000
X9 0.60E+12 | 0.600 0.190 0.600
X10 -.80E+13 0200 [ 0900 | -0.800
X1l 0.40E+13 | 0.000 | 0.000 4.000
X12 | 026E+13 | 0.600 | -0.310 | 2.600
X13 | 0.12E+I13 1.200 | 0.610 1.200
R1 -.80E+12 0.000 | -0.100 | 0.200
R?2 -.20E+13 0.000 0.500 | -1.000
R3 0.00E+12 | 0.000 | 0.000 1.000
SOLU | 0.92E+14 1.000 76.50 34.00
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TERATION

BASIS
X2 =5

R3 =76.5

RI1=85

3

Basis_| C(j)-Z(J) | XS X2 X3
X1 | 0.12E+02 | 0.400 | 0.300 [ 0.60
X2 | 0.00E+12 | 1.000 | 0.000 | 0.00
X3 | 0.00E+12 | 0000 [ 1.000 [ 2.00
X4 | -12E+02 | 0.600 | 0.700 | 1.40
X5 | 0.12E+02 | 0.400 | -0.200 [ -0.40
X6 | 0.00E+00 | 1.000 | -0.500 | -1.00
X7 | -28E+02 | 0.200 | 1.400 [ 2.00
X8 | 0.00E+00 | 0.000 | 0.500 [ 1.00
X9 | -12E+02 | 0.600 [ 0.190 | 0.39
X10 | -28E+02 | 0.200 | 0900 | 1.80
X 11 | 0.00E+12 | 0.000 [ 0.000 [ 0.00
X12 | -12E+02 | 0.600 | -0.310 [ -0.61
X13 | -236+02 [ 1.200 [ -0.610 [ -1.21
R1 | -10E+13 | 0200 [ -0.100 | -.20
R2 | -.10E+13 | 0.000 | 0.500 | 1.00
R3 | -.10E+13 | 0.000 | 0.000 [ 0.00

SOLU | 0.84E+03 | 1.000 | 76.50 | 153.0
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TERATION 4

BASIS

X2 =25
X3 =76.75
X11=17625

Basis | C()) - Z(J) X5 X2 X3

X1 0.00E+12 | 0.000 | 0.300 0.000

X2 -.29E+02 2.500 | -0.750 | -0.880

X3 0.00E+12 | 0.000 1.000 | 0.000

X4 -.29E+02 1.500 0.240 0.880

XS5 0.00E+00 1.000 | -0.500 | 0.500

X6 0.29E+02 | 2.500 | -1.250 | -0.380

X7 -29E+02 | 0.500 1.250 | -0.880

X8 0.00E+00 | 0.000 0.500 0.500

X9 -.29E+02 1.500 | -0.380 | -0.380

X10 | -29E+02 | 0.500 | -0.380 | -0.380

X1l 0.00E+12 | 0.000 1.000 1.000

X12 -.29E+02 1.500 [ 0.120 | 0.120

X13 -.58E+02 3.000 | -0.750 | -0.75

RI -10E+13 | 0.500 | -0.130 | -0.130
R2 -.10E+13 0.000 | 0.250 | -0.250
R3 -.10E+13 0.000 [ 0.250 0.250

SOLU | O.81E+03 | 2.500 | 7.620 7.620

The variables which form the solution space:

X1=25
X3 =7575
X1l = 17625

Objective function value: 809.25
total scrap = 809 * 260 = 2104.2104.05 m’
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dadally 2.400) eleal sah pliazuly (ol pisasd nilpw 4

Al
J-Lill 112|345 | 6|7 | 8|9 |10]11]|12]13]|14]158 okl
33 (o124 |O0]|]7]2]s|o|3]|2]s5]|]0o]1]3 5
60 4102|030 ] 1121210011 ]3] 153
51 0141 2 1 0]1]2]10] 2 0] 3 | 3110 | 187
EHH 013|369 |9 |12]15]18]121]21]24]127]27|30

Zmin= 3x3+3 X3 +6Xg+IXc+Ixe +12x9+15xg+ 189+ 21 x10+

2% +24x)o+27 x5+ 27 x4 + 30 x;5s + MR] MR2 + MR2

Subject To:

X)=2X> +4x4 + Txg + 2X7 + 2Xg + 3X10+ 2x11 + Sx12 + x1a+3xis + R1 =5
4x;+ 2X2+ 3xs + Xe + X7+ 2Xg + 2Xg + 2X10 + X3 + xie + X)s + R2 =154

4x; + X3 + 2Xg + Xs + 2 X7+ 2X9 + 3X1 + X132 + 3X ;3 + x5+ R3 = 187
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*

* LINEAR PROGRAMMING

.
L

** INFORMATION ENTERED **

ANALYSIS

2 P3P I3RS E At A e 2y LR

NUMBER OF CONSTRAINTS 3
NUMBER OF VARIABELS 15
NUMBER OF <= CONSTRAINTS 0
NUMBER FO = CONSTRAINTS 3

NUMBER OF >= CONSTRAINTS 0

ITERATION 0

X12=5
X13=1
X14=]

54
87

.
.
L
*®

J)LJ‘ J.‘.J‘

Basis | C(j) - Z(J) RI R2 R3
X1 0.40E+13 | 0.000 | 4.000 0.000
X2 0.50E+13 1.000 0.000 4.000
X3 0.50E+13 | 2.000 2.000 1.000
X4 0.60E+13 | 4.000 | 0.000 2.000
X5 0.40E+13 | 0.000 3.000 1.000
X6 0.70E+13 | 7.000 | 0.000 0.000
X7 0.50E+13 | 2.000 1.000 2.000
X8 0.60E+13 | 5.000 1.000 0.000
X9 0.40E+13 | 0.000 2.000 2.000
X10 | O0.S0E+13 | 3.000 2.000 0.000
X1l 0.50E+13 | 2.000 | 0.000 3.000
X12 | 0.60E+13 | 5.000 | 0.000 1.000
X13 | 040E+13 | 0.000 1.000 3.000
X14 | 0.40E+]13 1.000 3.000 0.000
X15 | 0.50E+13 | 3.000 1.000 1.000
R1 0.00E+12 1.000 [ 0.000 0.000
R2 0.00E+12 | 0.000 1.000 0.000
R3 0.00E+12 | 0.000 | 0.000 1.000
SOLU | 0.35E+1S5 | 5.000 154.0 187.0

OBJECTIVE FUNCTION VALUE: 3.46E+14
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ITERATION 1
BASIS

X6 =.7142858
X17=154

X 18=187

Basis_| C()-2()) | X6 R2 R3

X1 0.40E+13 | 0.000 | 4.000 0.60

X2 0.40E+13 | 0.140 | 0.000 0.00

X3 0.30E+13 | 0.280 | 2.000 2.00

X4 0.20E+13 | 0.570 | 0.000 1.40

X5 0.40E+12 | 0.000 3.000 -0.40

X6 0.00E+12 1.000 | 0.000 -1.00

X7 0.30E+13 | 0.280 1.000 2.00

X8 0.10E+13 | 0.710 1.000 1.00

X9 0.40E+13 | 0.000 2.000 0.39

X10 | 0.20E+13 | 0.420 2.000 1.80

X1l 0.30E+13 | 0.280 | 0.000 0.00

X12 | 0.10E+13 | 0.710 | 0.000 -0.61

X13 | 0.40E+13 0.000 1.000 -1.21

X14 | 030E+13 [ 0.140 3.000 0.00

X15 | 0.20E+13 | 0.420 1.000 0.00

R1 - 10E+13 0.140 0.000 -.20

R2 0.00E+12 | 0.000 1.000 1.00

R3 0.00E+12 | 0.000 | 0.000 0.00

SOLU | 0.34E+15 | 0.710 154 153

OBIJECTIVE FUNCTION VALUE: 3.46E+14
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ITERATION

BASIS
X2 =1
X3 =765
R3 =34

2

J)LJ‘ J.‘.J'

Basis | C() - Z(J) XS X2 X3
X1 0.00E+12 | 0.000 1.000 0.000
X2 0.40E+12 | 0.140 | 0.000 4.000
X3 0.10E+13 | 0.280 0.500 1.000
X4 0.20E+13 | 0.570 | 0.000 2.000
X3S 0.10E+13 | 0.000 | 0.570 1.000
X6 0.00E+12 1.000 [ 0.000 0.000
X7 0.20E+13 | 0.280 | 0.250 2.000
X8 -.86E+01 0.710 | 0.250 0.000
X9 0.20E+13 | 0.000 0.500 2.000
X10 -.17E+02 0420 [ 0.500 0.000
X1l 0.30E+13 | 0.280 | 0.000 3.000
X12 | O0.10E+13 | 0.710 | 0.010 1.000
X 13 | 030E+13 | 0.000 | 0.250 3.000
X114 -.26E+02 0.140 | 0.750 0.000
X15 | 0.10E+13 | 0.420 0.250 1.000
R1 -.10E+13 0.140 0.000 0.000
R2 -.10E+13 0.000 | 0.250 0.000
R3 0.00E+12 | 0.000 | 0.000 1.000
SOLU | O0.19E+14 1.710 38.50 187.0

OBJECTIVE FUNCTION VALUE: 1.87E+14
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TERATION 3
BASIS

X1 =385

X2 =5

X 18=167

Basis | C(j) - Z(J) X2 X1 R3

X1 0.00E+12 | 0.000 1.000 0.000

X2 0.00E+12 1.000 | 0.000 | 4.000

X3 -70E+13 | 2.000 | 0.500 1.000

X4 -.14E+14 | 4.000 0.000 2.000

X5 0.10E+13 | 0.000 0.570 1.000

X6 -28E+14 | 6.000 | 0.000 | 0.000

X7 -60E+13 | 2.000 | 0.250 | 2.000

X8 -.20E+14 5.000 0.250 0.000

X9 0.20E+13 | 0.000 | 0.500 | 2.000

X 10 -12E+14 | 3.000 | 0.500 | 0.000

X1l 0.50E+13 [ 2.000 | 0.000 3.000

X12 | O0.19E+14 | 5.000 | 0.000 1.000

X13 -.30E+13 0.000 0.250 3.000

X114 - 40E+14 1.000 | 0.750 0.000

X15 - 11E+14 3.000 | 0.250 1.000

R I -.S0E+13 1.000 0.000 0.000

R2 - 10E+13 | 0.000 | 0.250 | 0.000

R3 0.00E+13 | 0.000 | 0.000 1.000

SOLU | 0.84E+03 | 5.000 | 38.50 187.0

OBJECTIVE FUNCTION VALUE: 1.78E+14
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TERATION

BASIS

4

X1 =24.58333

X2 =5

X 13 = 55.66667

The variables which form the solution space:
X 1 =24.58333

X2 =5

X 13 = 55.66667
Objective function value: 1518

J)LJ‘ J.‘.J'

Basis | C()) - Z(J) X5 X2 X3
X1 0.00E+12 | 0.000 1.000 0.000
X2 0.00E+12 1.000 0.000 0.000
X3 -.60E+02 2.000 1.080 -2.34
X4 -.12E+03 4.000 1.160 -4.67
XS5 0.00E+00 | 0.000 0.660 0.330
X6 -.24E+03 6.000 2.330 -9.34
X7 -.60E+02 2.000 0.750 -2.00
X8 -.18E+03 5.000 1.910 | -6.670
X9 0.00E+00 | 0.000 0.330 0.660
X10 -.12E+03 3.000 0.500 -4.00
X1l 0.60E+02 2.000 0.410 -1.67
X 12 0.18E+03 5.000 1.580 -6.34
X13 0.00E+12 | 0.000 0.000 1.000
X 14 -.60E+02 1.000 1.080 -1.34
X15 -.12E+03 3.000 1.160 | -3.670
R1 -.10E+13 1.000 0.330 | -1.340
R2 -.10E+13 0.000 0.250 0.000
R3 0.10E+13 | 0.000 -.090 0.330
SOLU | 0.15E+03 2.500 24.58 55.66

Total scrap = 15018 * 260 = 3946.8 m’
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iJiane 6.8
oSNt 3, b ot gy SV L o o )
Max z=20x, +24 x, -1
S.T.
2x+x; <2
2x, +3x,548
X; + x» €20
X) ., Xa 20
Max z=30x; +50x, -2
S.T.
2x,+x2 <16
Xy +2x» <1l
X3 +3x><15
X1, X2 20
Max z=10x; +20x, -3
S.T.
5x,+8x; £40
Sx;+3x; £30
Xy, X2 20
Max z=6x; +8x» -4
S.T.
4x,+x, <20

x| +4x2<40

X1, X2 20
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Max

S.T.

Max

S.T.

Max

S.T.

Max

S.T.

‘r)u‘ J-‘.ﬂ'

z2=-2x1 %+ X3 <5

X; + X <4
X; + x» €6
X\ 20

cw<Xy<+aw

zZ=-X-2X2+Xs -6
2%, +x2+x3 €6

2Xa-Xx3 S3
Xy, X2 , X3 20

Z2=2x-12x2+7xs -7
X; +3x2+2x; £10.000

2x;+2x3+ x3 <4000

X1, X2 ,x3 20

z=6x, +8x> -8
X; =3x» 2-3
X, +3x2 2-6
2x;+x2 <8
4%, -x; <16
X) , X2 20
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Max Z=-3X,-2X; 9
S.T.
-x; +x3 <1
6x, +4x, <24

X, 20
X2 216
X1, X2 20
Min z=3x,-x, -10
S.T.
X +2x; 212
4x,+x3 <20
3Ix;+6x> 236
X1, X2 20
Max z2=5x+x» -11
S.T.
;] + x5 812
4x, +x;, 20
X1, Xz 20
Max z=6x, +8x, -12
S.T.

X; +x3 $3
Ix; +x; <10
X1, X2 20
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Max

S.T.

Max

S.T.

Max

S.T.

Max

S.T.

z2=4x,+7x3+x3

X, +2xx =12
3 x; +x2 =18

x3 22
X1 ., X2 ,%X3 20

z= X +4x;+Xs

2x; + x2+3x3; =10
-3xa+ x3 =-4
X +x3 =3

X1, X2 , X3 20
2=4x,-2x+6Xx;
2x; + x3+3x3 =36

5X| - X3 <2
X1, X2 , X3 20

z2=5x,+4x2+2xs
2x;+x2 tx3 <4

4x,+4x,+ 2x3 S12
X1, X2 , X3 20

‘r)u‘ J-‘.ﬂ'

-14

-16
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Max Z=4x;+3x3+xg
S.T.
2x,+ 3xy+x; 222
X, +2xa+ 3x; =30
-X; + 5x2+2x3 =42

X1, X2, Xy 20

Max 2=4x,-2x>+6xs
S.T.
2%, + x2+3x; =36
S x; - X3 S2
X1, X2 , X3 20
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Aglad) dgue ! Saad LR gt
Duality in Linear Programming

:dndde 7.1

< g-.ﬂ, (Duality) astah Lhad-1 dg o Pl LoLall aglt oal bl -0
S el etk y AL 5 et B gV ) 2 ) 2 ga g
NP) [P To0 I RO BPes (R PRCH VIFVRR [P P I PSRt Ep Vo
Qg e d Laldhls alh oS 3 Lol eda pasnady cal> y Lo day
.(Sensitivity Analysis) Lla3-|
Jlos elal JyW1 5 ecld PN 25t by Lt sl o5 sl 6
35} s O Sy AN leghall e 2SOt L Z33ad jo g ikl ig I
Ll Sl a5 31 BLaYL «ol)1,al 381 gge 3 asliall Sllead!
o 2S2ae j 5§ PBlcdy ) rlaf § gl yy g ol I

gV 3 gl § Le o il g 5 il
3 PER Y PSRRI R SUN P TP pou bW
MAXIMIZE "
)‘ Z=;C,x,
MINIMIZE
B zn:a”xlzb, L=1.2..... m
J 1
x,20 J=12... n

. Flalt iy Ll ) e g 24 x, O i e
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p ! it
(6.1) st Jf Ly Ll 3 gadl e o3

(6-1) J g
JJ&|£3,~'J|CJ|J:.&:A
| I |
NG
ﬂ:—:;‘l“' X) X> X; Xa
:-
¥t etnd PP T BT
an Ap ... & ... am| b2 |y L-’*‘-c*-'*
U,U'*Llﬁ . . . . . C;,.Jl
C’-""U/’"\“ L . . . . . : J JLLH
] 8mi  3m2 ... Bmi  ..c.. 3w | O | Ym

? 1

N 5yd dy (Yo Y2, - Ym) M A pize J S -5 50 ol g5 kel y
X1, X2, .. Xp) dolie
S 35l g gV 5 gudl il 3 pUas Y s g1 (6-2) 035 J 921

(6-2) J g
Sl 3 g VIR
o pad il Gads | JIgey
A2 8 2 aas (MAX) oo
VI < odan (MIN) i
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Max

S.T.

Max

S.T.

Min

S.T.

161

L U 5 Y gV 5 gl ki 3 56 s g5 I WY

:7.1 JLa
ZJJ&‘ C:_,.Jl

z=5x,+12x,+4x;

X;+2x,+x3510
2x;=X,+3x;=8
X1, Xa, x3210

:&,;L-..all iy Ll i Sls)
z=5x+12x+4x;+0x4

X, +2Xx2+x;+%x,=10
2x;=%x2+3x3+0x4=8
X1, X2, X3,%20
(Dual) :%,:l::.ll C‘;,.;JI
w=10y, +8y,

i +2y>,25
2y, -y, 212
Yi+3y:24
y1+0y.20

83AL A2 Y1, Y2




c,l_!l J.u'Jl

:7.2 Ji
Max z2=5x%x-2x
S.T.
-X; +X,2-3
2x;+3x:<5
X, X220
il iy sl il SLsy,
Min Z=5X%x,-2x
S.T.

X;-X2+Xx3=3
2x,+3x2+x4=95
X1, X2, x;.x420

Max w=3y,+5Yy,
S.T.
y1 +2y><S
-y; +3y;< 22
y; <0
y2<0
.Y|,YZ;)uy‘)J‘J.\;
73 JC.

Min z2=2X; +3x2+Xx;
S.T.
X; + X3 +Xx3540
2x)-Xa+x3217

X1, X2, X3
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Cadtie i BLL gLt o5 pu

Min z2=2x+t+3x2+X3
S.T.
X, + X, +Xx3<-40
2X1-X2+x3217

X;. X2, x320

L S 5 gali Ul
Max w=-40y, + 17y,
S.T.
-y +2y,<2
-Y1 - y» £3
-yi +y: €1
Y1.y2<0
1A g dpailly ¥ g 3gailt oy AVl 7.2

r QW gl Jo SLLV LIS Bole] o Sasy

Jal g3 e Jld gz S5 #5505 J) U 25 5adt g2 01 -1
S 3 el (0 X M) B pinall Jans Jg Y1 -5 gkl (M X 1) A G pirall -2
e Sally S 5 pull Sl il B a5 g 5 pal 045 JST -3
oSty U 250l 5 gy o BNe a5 JYW 3 padl G pize JSI 4

JaNgdpadd glaxt Jo JSI -5
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At il

z<Z -l
z =2 -o
ey C xo=Wob OIS 1}~
Xo = X Wo =W
ol g o L 255t O ool Jo o g Iy W1 3 pedl OIS 1) -6
J S ar g Y U 230l 0 sgae s Jo o JpY g3 gadll OIS 1) -7
e Sl

JU 7350ty (Primal problem) J oY &5 yadl oy SN 7 2 Sy
raJUN sl JI SN dane! 4 (Dual problem)

U 3 a2 IVl g3 gat
Min z=10y, +8 y> Max z=5x; +12x>+4 x;
S.T. S.T.
yi+2y2235 X1 +2x,+x35 10
2y,-y>212 2X1-X2+3x;=8
y1-3y,24 X1, X2, X320

y120-0cy,c#®

Jatadt § 1 B eShandt 3y b danl y i o JS Il Jou
(6.4) 4(6.3)

Lozl ey AU ol ylall
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Lhailt &g At UL gl 25

340t} cnaadly S b G, = [ W ALl 2 ol I 21 1)
Lo pazed) LoLalt asteh JLL

(6-3) J g
Zl,b.ll J"L" X) X3 X3 ) R JJ-'
0 (starting z -5-2M  -12+M 4-3M 0 0 -8M
X3 enters X4 1 2 | | 0 10
R leaves R 2 -1 3 0 | 8
| z <7/3 -40/3 0 0 g +M 32/3
x:enters
Xq 173 7/3 0 | -173 22/3
X4 leaves
R 2/3 -1/3 | 0 173 8/3
2 z -3/7 0 0 40/7 - ; +M 368/7
X cmters
X2 177 | 0 377 -177 22/7
X) leaves
X3 517 0 | 177 27 2677
Z 0 0 3/5 29/ - 3 +M 54 i
3 5 5
(optimal) X3 0 | -1/5 25 -1/5 12/5
Xy ] 0 /5 1/5 25 26/S
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Chaildg Wl PLL gl 25,0

6.1 SN Jbaagad Sy Aol glall b
odans Il sy Il
k X i
Z=-8M Z=W 45% Z=2IM

| > |

t t t
SAb > b Ll SV Jsla)t ddais A > o3 Ly
olans (MAX.) odans 5 panai oo ! (MIN.) pia

A3ty SV AL ) Gperans Sy gl oa
Ly Jy 1AL glas ¥ b e g3 -1

N I N
-JL.\ abl s > | W RNV PO

P R Qe

Sty SV L a1 gt -2
(nnas AL Gl @15) = (ordans AL b1 1)

Tty G § Syt 131 30t o o DY 2gaal 7.3
Lol al sjl! (Sensitivity analysis) Lwldl L€ ddese Ly 5,4
JH b Jo 55 e (Al Sl il b Sy A anzdl,
Gl i de BmNy o pealt JRa¥1 1 b Sz V) OIS el e Gasdl
STl st e YUY Gl 836 ] ) i O g Sl il SBlae 1 Y
Jalazn 55 21 Sl ghall IS e SLeal) ool Jo 1 it o 5 gy o0
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At il

L o JLA o Sole] Oy G J5 2y Gt Sary . Skl
Ll &b gl Sy g LN GV el o5 gl (o Lo G Bl
.(Dual simplex) gLl oSNl s

Al i iy ) s o Bl o gy Tl o 2 5
T

N idasly m O yio Uy ddass & yiae el (M X n) G0l G a0
(m X n) & yaall Oy (M X 1) oa (M) 3208V 25 (1 X 1) N1 G5 3o o>
(I e Jeyidasing U yiom Jo g 8

4

3 2
{4) ,{—I]Ua:”ﬁUGXZ)r?-’-Q‘:’a}L“J

1 0
1GY gt o O o SN U pus ISy
o,1) 4,-1) (3,2)
seilgdenl! w0 Adybo
V il 3 yioas s 3 o)
\" =(V|, Vg,......Vm)
A ikl % yanall
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Chitig ) Bl gl m5 gt

0P
a, a,, a,,
VA-(Vh Vz, ...... Vm) azl a, a!ll
anl a-’ a"
=ivlal,ivia,, ........... iv,a.
L-l L=l L-1
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Some software packages for project management
Name Source/Details
(for addresses see list at end of chapter)
Project Scheduler Scitor Corp.
SAS System SAS
Project/2 Project Software & Development
Super Project Expert Computer Associates
Artemis Lucas Management Systems (see also Project
Manager Today, Feb. 1992, pp. 42-45)
Project Manager Workbench Hoskins

Open Plan Welcome Software

Primavera Prirnavera Systems

Trackstar Cosar Project Management

Plantrac Computerline

Promis-PMS (based on Artemis) (see Project Manager
Today, Nov./Dec. 1992, pp. 30-33)

Project Guide Deepak Sareen

Power Project Asta

Pc Project 3 (see Project Manager To dat, Oct. 1992, pp.
34-36)
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Types and capabilities of computer software pakages

1. Simple: Single-project planning Limited analysis (e.g.
no rescheduling) Simple, easy to use and
understand

Single: Single-project management (planning,

scheduling control, monitoring)
Comprehensive analysis (with progress reports,
reschedulling, etc.)

Multiproject: Multiproject management (planning,

schedulling control, monitoring)
Comprehensive analysis and reports

Uses common database

Typical capabilities:

Formats (activity on arrow or node)

Bar or Gantt chart displas/outputs

Schedule dates

Updating (e.g. with revised durations, schedule dates, etc.)

Sorting (i.e. listing of activities with dates, by department)
Resource aggregation and allocations

Cost controls and calculations

Calendar dates (i.e. internal calendar used to apply calendar dates
to activities)

Reports(i.e. choice of report formats)

PERT calculations

Cost/duration comparisons

"What if?" calculations (e.g. calculate effects of changes in durations,
resources, etc.)
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:(Project control) ggyll ) afanill 10.9

JIN> N .‘ﬂa, ‘CJJ:-“ .L_.A-J oU‘ CJ}.‘.‘.U l_-h-_-h#\-‘-“ ig...‘..“ 2._." ‘J,J
kel e SN dtd g 3 &3V Gtk e o 3y AN e dnslis
J,.S,gé.‘m.)-J_.|J;.;;,qyt,fﬁ|y\>bwé\lyjéi,:,-.l:,::lso!
...la.!t;f:.“é

MJ‘J!,y«JMly}H&#J&CJfLéiJ,ASu:‘UK-‘-J
bﬂ,.br;la,hzb‘&! u_,uu}_\’-‘:j‘ J- é, suda.aiuu w)‘glh.:..\h
t,#‘ééadb@b‘»}st,#‘%ﬁdﬁ

283



AWt badll

:gmﬂ 10.10
s&ﬂ‘k#di‘,ﬂ‘d}, c.\.gbc:‘.oc\.:n’ MUL—-U,’- -1
&Y 23 55 gl 40301 SBLLD Jatiy

J b .
bl Bl Gi et

ik
©

>

LA aad g p g el Sl

i el oo bl oy ys

iy e x5 oyl

Sty SV e o il a5 g3

Q:.'.ﬁ‘:)y| o~ Jlal

i3 iYL eV sl

Z:-,....ll ih..lx i,L;.LU G_AU):J‘ bLL

3,!;)“;,.&)\ coUJ:JI sles!

BL 2SS Lle i

b yhinaS S yhall dhasl y dpledl slas]

b sl il

Sl R|—=|2>|O|mM(m|m|[>|O] >|>

b nll a5 9

Z

S 5 gl nzll o5 3

o|la|lv|ala|l—=|v|w|a|w|—|a|s]|s]|owo
| 0| Z|Z || R|=[=[T|O|M@MO|O|®

B.O,LH.M RN

284



CJL&,A'&B

W oLl o g5 S Sl acas -2

(ﬁ, tt"': bl Ci oo
5 - b S8 i Dl aki | A
15 . o gl aiai| B
5 A wWlobedla| C
2 A il e LW yall ab | D
3 C.B e gl el e | E
2 C.B i) Jaly> by, | F
l D.E ik ek VoY asy | G
| F.G s-ViatiJs| H

£ rad) el 2 ) - |

§ .3 el Sl hitasyl -
L JSUFF FTaxyl -2

I e gt o () 4} (V) 2o 0l -3
« ) S a0 Lhadasul A2 ol bLedt -1
« ) 5 A IMs e B e 28T o, OF Ky -2
C ) s o530 ol e oWV Jrar g9 200 3 oSl -3
Aol og oS bkt § ity bLis g sl oF (Kl 4

) S g, 2L
) PSE b e Sipy e Y LhhZ 82 gl -5
) CPM 3 Lgze PERT &3y by aSoudl il Sl Cikiz -6
) TFJ,a_a:.,idb,&ol&g.ﬂq.S;.dluk_;c;‘,,:u\LL'.-J| -7

NN NN




A

¢ ) Ao §3l FFCTF Ol b 2 oSoudll lad § il ) L2 -8
¢ ) c&lﬂ?i:l.;j();.\gipw\c.,i.xa,.LL:J‘_g‘yj.xg;b‘J._.a:_U&o -9

C ) pa S 2Edog WS bt § blss gl 2bol foedl o <10

L S sl SbLY s DU Slaslall 4
(p2) o A | Sl L2 blidlCiny L 5l
l - B il A
2 - cir.U Sladl jLas| B
] A ! C
6 B,C i 1 (g lndl i D
10 D e Ji et E
3 F RN F
] G gy | G
1 F il o H
5 E.H La ) il |
2 I Lo, NGl J
1 FJ Lo )3 I gall ad K
2 F N Y1y ol I S L
4 L.M < 9adt Jis M
2 G,) s 5l gl s N
2 o) i1y O ad ) Lars o)
] I,P I i Jje P
7 P S ot Q
7 I,N I sl R
3 S Shadt Jiel S

£ el Ll 42N o~ -

t_,,‘...Uq.Sadl bl -0

286



QL‘-,}LULTLZ

ot ke sl 2l e d G plall ) S 2 gan] b5 -5
win JS g AUy (Ut (aN cardl I s2I e glall poad
3 (PSR VEVS PSS S S VRCH TR

(f_’g) y}“

LI bl

blidl awy

bl 5,

10

Sl 35 Sl

7

;Lby‘ \.'J‘.LM" G:l‘ f‘f“‘:

O[>

P I L

- N W] W

B.E

14E.F

dalall 4151 slate

Qlmm|O[(O|®| >

£ A e Lhdasndt St o -

C_,f'.JJ ‘__,.S:.:.H L.'J-h.......>-| -<

Y bl 3l oSl bt ol -6

287




At Ladll

1Y Ll 2l 4 el ! -7

B 1 pa g U o 0L ceals 15] DL s o (5575 9 2 -8
:GY ol e DB G2 il PR

dasY ia

a3y

bLd 5.,
- 4 3 | A
- | 4 2 B
A 1 2 1/2 C
A I 5 2 D
B.C 3 6 l E
D.E 7 2 1 F
D.E 9 4 3 G
F 5 3 2 H
G 8 5 4 I
.t,f:..ﬂ‘__,.ia.:llk.i-h.___ﬂ

288



Sley 2l datad

(g 9 al) Shobasdl S cohel 15 -9

2,4,9 3,45

11,2,3

£ el aSol bl o i -

gy g9 Al Lhahsull 2 <hel13) -10

e s D
\O//' 79“/®

QCJ}.'-‘U ESi}bLo -1
wg,.J|J.,.u6,u\_,\,,.,\1|,.u -«
(‘Lﬁ)..ﬂ ZOdt")—l‘ JL.(..:Y@—J&JJ‘ JL—’-Y\,ALO -

289




A il

I & R eI e -1
W bl Ok -1
Sl bl
S bLe
(SR bl
Sl BT B
g5l laid!
‘.}‘pu;“ ",oJ',“
'_!JL:.:“ &oJ'.“
bl oad Slicsg o —¢
ROXPN | R E (PO
Codsiss § Jormn o3 13) BLE LIS 4,550 =

290









11 mee]

SR S|

Inventory Control System

:dedde 11.1
20 e Ky A A G A6 1) il oS play s
Bl el DSy et 5 1§ dall Sliod gl Ui g 2nalill 111 a8
lnvcntory ) J-!,"‘:JL' rSad‘ rlh.; di u c.n.‘.: rﬁ.‘l‘ B¥Y ol PRI

“d rJa.’.....; r.\.E..'.A flh" gy l‘.'b ci&)}‘, LS J}uﬂ‘ JaxY. 3,5 J—_J (control
a3daze ol y Llar) 3 by L5l Yol

ooy el pU) \glay IS8 ial! 11.2

gredde 3 oVMg sas g plladl (.b.......:

b g sl il e Lt 2 e a3 1ol

VT AU ROR PR P PYINTER g (1 VO W et U U

Y;amdﬂflﬂ&p2L;,L4,1,_.lle!bjl$.l|yL¢jJ_p‘..;gﬂ|;|,ll -3
Letia b ghate Lgzad 0, OF o1 o b A2

AN Jglze 3051 3 Had 53 4 W11l 4

PEINRE U P g AR P PR P PR R VRCA R PELE ST S AUEUAURES
AT O ) 05l e Lk (s ARl oo el gl Jas STy dmy O o
'0._;4:“:““‘-"",‘3

293



A Wl drlaze sy gl ga g gy Lo J g5 g A1

.a;u.lu_j&.ss;,,,,o,-s.lw,;....u,,:q
Jpa bayg Jas I shlt ol O3 Y el Al o5 A1 sl 1S
r)\:—vY‘)Jﬁa\iﬂ}S‘,o,5)“.;.-\!)),'-er$)|,“0.1‘“}‘.5)st\5‘1|

CJI

P ,‘;:LL\ J...Ul

-6

:(Objectives of the system) oy sty asmadli plikd Mual 11.3
b \S Slalleia el Lo

cey gl SRy ol 2 Slads sy (g5l AaST ) end) Ol
sxﬂ‘bﬂ,s@ﬂld.\u;séﬂ‘5)\‘_’...Y\Q|SCJL’_-L_.‘.’-Y|olf:.J
LRI 0y [EWS PSS P

P [P 1P (Y B RS- ) I OO I O JP1E TR P CLS
.,t,:.ncx.s,i

el b Al G b Byt ol Y e L3S LS 5 gy e ST
o g &5l SV & gas il Lo dole o 5L 31 e clgle
.iz,...-u‘lh.\a';&&}si;_»lJ-\.A.Ji,ilSat,.S,,iu,balm,sg‘,:\,.

:(Prerequisites of the system) gy hdlyafandizindlsgyd 11.4

oSy Job IS ol oSl ol Gl Tl by 2 5 e Y

:g}gbLJJJ\oiAr.l‘&ny

S e A3 AW Jlzsla

P N PH R P IO R e B Y - TR ST
(CWRE SR

-1
2

294



el Sl ol

kel Y1 s (Lifo, Fifo) o)l oo 2 b A0ad -3
bl -1
.Lﬁt—jdf-—.ﬂ_’()\:—YLuﬁhu\Ub -
o)t o (Gl (o Al (Sl gl (SN A o Db g a4
(@ Sl iale) Sl e ¢ Je V1ALt ¢ oY1 A1)
055 NI oyl e gl 55 3 Y 3 SLEN adt el 2 V) pad -5
Lo ks Say SAlaale o glad-l pLall day
Sl e isle I3 addt g ol Wl -1
(S 36 I 51,2 lis Lakeinll Sl ol pn a5 gl 350 -
bl gVl read L3 el YR -

Ol ) afanidl aganly 13 11.5
(Role & Importance of the system)

il LA U Lo yuast 251y Leliall Sleladl § st des O}
33 7nm Bl (b Goilly oizll Jandl oy Aol dn ] il
S DL aedsnial (St e OIS Jlans Sty 3 0m 5 i g L2 UsS
D9l e 0 o5 5 dgr om0l Y cama gl ol L 3all itiay i o
Slarlamb ol L Loy Lo WY Sl flan DV sy bl ad | e
R N0 Oy DY VA R VRS VR- 2 U P ) Jovr== (I JOX Ve U
~ o i i DL 5l bl ol 201 ae e O 3 Jiely (Sl y
- JEN IS5 305 1S = 2Lt lllaze, B s 09 p5alt ey ks

295



£ G Jail

A 056 AW SLUSH Jo 5 330 Jatgall n o5l zm g
85kt n STy cdslialt ol gald Ly U g1ad) J oW1 5 520 g0 Ay el 2y
LA e 35 AUV Gar e Ll ot A LT by (JW s 0 e
(Joldh JUN Ly ole a e aze MG L pEy Sl ol 2 Laladll
‘...1 G132 gl 3 Ll S oG-l plasaed selis 2 $las Vi Lpaluid
Jie 3 (s JW pli) 5y gedr WY1 Adaall SN de o (J50)
d - sy« oy i Ry Sasdy el 2 b e - el
BUS ey b ool 4 W el aliSy el Jo b U ey,
.rqul‘lﬁélﬁyl@ﬂl

o gl W OIKG bty Gt e (it pladls
() pag &t 2 asl 30liS e asTall ol o 5ol

25 Y Ll 3 A1 Sl g e L dazay ‘q}: JSo
Noll ada g5 de e alS 25 o oWy Lok plda 4aSy ¢ 45 ) BLOVL (Dl
L W A

.,,,.b,sup.q,,uw_s,dl;,.;,\.uz,x.;‘_j;,,‘-.;.;u,,;u:\,-\L.r;g,
Sl alaiy 2BV Jly mdediy Sleall Slajlas gy 5 050 -]

b=V ol oYy
Mgll po Wby Sleddt Sloly ZON1 b ghast (o gy AN par <2

SN Sty Y1 Sldan Lol LNy dazall inaiy 1,V

ey adadht e saelll
W3 Ol s Lgmamd g O3B Jf 8350 g oyt DUl O30 310} 05 -3

296



et o late B3y W je 5y Ly Wpiiay L5 Lhamy LA )5
S 55 2N e 53 Al G 1 A6 Sl

(Structure of Inventory System) i)kl plidd dgisngs 11.6
Blad piaaiy wladl w)s (W ety i e pladl L 0,55
e s gy Syl Uabaz s (11.1) 5, S

c'_ah
NP [RTFOMY

e S

I (6 gl ¥ ST

D97 § a3 s (11.1) Y

297



£ G e

S qal Ll oM o it ol ) 2ot O Sy Uty

fl’)'r
| gl Sldes )| g e ../.\..L b gl W
,_/ —
d‘ﬂ)")"-ﬂ
<l g2 : uLS,U w
L OJ)L’- L o,lU-‘
poeall inaiia § el ol (11.2) Y5

(Inventory System Model) (ki plihil plati g dpadt 11.7

LA e Jo LN it pllas 23 gad gl YT b O}
Gal N Il LS 2 oS -1
Sl odd WY1 oz oo -2

S GaE Ay Ll LMl S aad pa g1 D1 e L
g5 Jo Az gy GUN I3 e o ) LI (Optimum order) -, ;1 ol
.i.:gl.‘.!lml_,‘-i:.,L‘JliJ:.AMflEJﬁ.L.;q;ﬁ}.:J\fLEJ‘J.n-&!};.:llruf-s

298



Il oSl ol

z,suu___.gn,‘(-cn...z;,-,p-t,,,t-f,,y)zgu\s,wwm-_,m,,

hedl Sas ke y Al Al 04 jalZ ue (9., 1000 - 100 - 10) )

:g Y ol e Ll o

Lo GU Ll JLasnl <5 any ((Periodic review case) &Wis Aall pla -1
8342575 JS g

&)U LS GLoh w2 a9 (Continuous review case) &bl Lasdl plla; -2
LAl Bole] LaSS dhidl odn ey U a8 J Ol (§ e s Lok
.(Order quantity) - s M LM}l s LMl LuS 5 (Reorder point)
Sl Sy Gollall L)l Lasy Ll Bole) dad wad SN ey

(G gl Jo a5 Ky iy eIl 5 gad) Lalall 2AUS panas

+ (bl slue) ST + (Sl yzll ol 2 LUST) = o pindll pllis u&.t,.;

(adhll 5 g pae dalST) + (Ldhll fai> 421ST)

:Unit cost of product Joigl gl adisal 11.7.1

Sl gl 1S e dazmy g ol 2y 2o sl QAT 8 s

C=F(Q)

N C B Qoo sy . Qo ol 2l s J b ol 20 s C
.(ll.3)J§.‘.JL5c.b_,o,~LS(.b-l_,.\lc:.\|

299



Co

C:

£ U Jadl

Co
Q< B
. G :
' Bi<Q<B; ' Cs
' ' Q>B;
. . >
B, B: Q
Q& Cﬁ)\d!c.b_”(llJ)Jﬂé

:Inventory holding cost (H) gkl Sade 2didad 11.7.2

Sl 2l y Ll o el = 0 55 2SS - 0 bl Jaim 2ASS s
Sl 5 ) BLoYL 0 9 550 Jaws g0 Je 31l - QWG 5l 5 Kol bl -l -

.O;ﬂlw&(“)h@)

:Replenishment cost (S) dgllal olie} adiad 11.7.3

= il bl = 2l by 3 e e W § Gabelall S 5 = ol sl

eVl el ) = S pad) jadsidl - ) aall oy I

300



Il oSl ol

1Stock out or shortage cost (11) aayhdl i) adidad 11.7.4

QW35 520 S5 19 0 g5l o 1aS b i 09 3l OV AUSS Jay
o QS S s Ol Sy = Oyl RS D 3 0 ) ey
GO J 83y g0 &bl 31 gl OIS ) sl g N OB § Dl 4} - W
.(Lost sakes cose) wlall iw b Olaas B Lo [(HIS PP & glhall e Sl
1(Order) dgllad 11.7.5

3 bl Ll 5 g5 ga (H) O palt i QST oo o il OF Gyl e
szl dollall aS) dadainall o2 Ot (559 ol e OB ke cmlll 25 0
bl sl = Lt el b Jl gl 5 4yW G s
g sVl - LU

S Al yb oI5 reai 5 24 (Production) C\;‘dlh,hi&ﬁl._.’.‘irlhu)l.:.._,

o B\l g im0 Sy Al e il 1 il e (11.4) S

Ut B!

b olé)
P el

saaalt BIGYI

(11.4) Js=

301



—~~ Q‘.\L&.\ J.u'Jl

;i plid D daghi Gl padl yany 11.8
:¢ Lead time yo Y Ylisols igallal 518923 p 35U a3l -1
3 AN e I OB (LaSH By a0 Lne db Joro g3 oY) ey Lokis
(L) (Lead time) oy aldi o5 )
(Stock replenishment) (343l 3213 -2
B} Ky - dadizie Dy g f L DL OF Sy A0yl S 0
o bode Uk DLy o)l e 3,55 311 0,85 Ls Uk 0550
RSN R LK FPRYSE U E N PP PP PR NPT vEA
:(Time horizon) agie)ll Aadl -3
O3 A LS oSony O Ky A3 A el 0 3l e 15 il G5 a5
L)l LS e dezaiy cidd2 b b daae N eda 0,5 OF Sy
.@ﬂ|3jﬂ|&.&ﬁ&kﬁﬂ&#}
:(Number of supply) 4p39Ml ysbias suc 4
Ol Lo Ol ol Llzz O3\ s Jo o il pllas 522 01 S
Agmdand 35 8l1 5 9y 03855 (6 5N ey 35 50 0555 55l 0
(Number of stored times) aigjatl slgtl§ lgsl -5
F S0y e sE S Aol gl plans Lo st Al g o8
Ledby Wbt G b 9

Aplall¥i dgasali o daad 11.9
(Economic order quantity model) (E.O.Q)

JJ..AJ yhas ;.:JLJ\ 03 ;-_-A) 2,90 JS é d),ﬂl‘ bl—.ﬁ‘u E.0.Q C.)}‘.a
Jos S O BN (11.5) JS&L msgn ga 1Sy .D bl a1 3 ol
302




il Sl ol

Sy gy 9 Q (5 p5ms B} Lo Q a5 gl 0 Juad il J) 055580

o ia s 3 0 g5
T \
Q
>
— o

Dd dokj a0

N 5,95 danb (11.5) JS

tr.‘ ‘;b ﬂ)\‘.'—uyb Ju,.:.U i:"‘)“ SJ)J.“ JIN= i,llrﬂ\ S ol

Al 3 4 . Loadiot 8+ Ll slae) GG + Oy ) B IS
Uy ezl S5 VD Ol & ot dllal) 5o 5 D OB e Unjtd e 1 ik

IS5 0y 2Q= Dyl o e Tal g s 0l i 2S5 U

% = Sldhbllisas e daza; bl slas)

:GY gl e U Y1 LS ellas) - Sas
TQ :%ClQ-O-C:g'i* VD

93 ) ST + Ll olae} QST + O 3l B ST = U Y1 QIS

303



P ,‘pU-\ J.u'h

! AP PHEE]
/N

Ll olus) S

Q.
AN GG I (11.6) Y2

Qi Lo dazay O g ekl I Y1 S s O S
: Joo i & i plasual, .

TQ=%C|Q+02%+VD

11-_C_=c_'+(_&:.)+0

dQ 2 Q.
%:oa}muwimwﬂw:
.¢_D
= =—C,
2 Q °
“Q = 2Dc,
¢

304



Al oSl ol

(11.5) JSN 3\S o N i 5, Q7 s Sy
;,‘,a:e\:Dz,,-..na,,u.:w‘u,:t,u\,;ﬂ;dufwh_;,'wcs,.;néo!1,,,
Sar o - BV OWYL pay Yy a2 Q7 Aol LMl jlas) )

Zi._JL’J‘ U)Lﬂlb 4.3.&3.1.4:-\ ;E.Jhﬂ Nas! g 2 4'." i,.SJl h.al..’-
R=dL
RERENPMIN] :\»!QG,‘J\ u.up‘.:,q-.ll LS R o>
(b)) oyt SNV S Gl o e d
Sdadl Lkl :\.u-!é&,,:.)l ods o gl el L
D

-2 .
365 -
(Minimum total cost) jaall -, 3l WS (ol - Sasy
Tc = &c, e c, +(Tc’)
2 2Dc,
2
Tc' = {2¢,Dc,
L1 Je.

LY Bl 0512 oo dast by § b sl S LWL &S g

i._.l...JISJ.J-IJ)U-Jo_,.ub)|2&i|&dqi,.§)|d)U\Jt)lrﬂ|éfwl
Ll 3 JUnS ploas 200,000 jlaia; dgydt il o pis IS 2 3
2000 O ekl pvlaall 4y 3 Ldlali ol y .o 55 lOOCL,...u;ﬂ;,ZL..,u,
15 Lkl slae) &‘5.,2(;(;(;00 C....Ln...uq;}_.“ SNV Ja g2ay il U
ey Y sl Gl e il Lol LaS sl Ly,

.JM&M‘W‘

305



£ U Jadl

:JH

. Jz(zoo.ooonooo
Qu = >
Tc" = V8000000000

200,000

R=dL=

(15)=8219.17  zlmas

o

Min Tc = R,c, + 7c,

Min Tc = 200,000 (2000) + 89442.7 8
89442.7

=4472.10 + 4472.135
Min Tc = 8944.235 o S

0.1

IR 5l pais! a0 Agobuad ¥ Agatindi pullo dad 11.10

Economic fixed order quantity with usage model

3 SNty D3l e 35k Sous O Lleadl &l o Syl e

- § oy g1 e B 2N o 05 (Gdan e Bud T oday a1 Ol
1Y gl Jo Gt kel s i g bt 0ih Uiy 5

1c=Qe, 9. D¢ Lpv

2P Q

oUlilbilis d &
WSS janoly dmslis Qopt yinol b6 Jgaadt S JpWV Joolidl 3ohaz
t U gl e TCopr oo i) 82
306




el oSl pl

. [De, P
Q“"'\/ ¢ (P-d)
a\.x,-,}\m
RPRURIE]
I Jine @
_ Joor a1 lia
Phel- g g5 ot SR
L | LI ?
g4
(11.7) Js&
1.2 J

penf das dal gy 02 Sl el La S ) bl 09 55vaS e X e
o Aal gy s Sl X1 gammy X gkl OUS 0 sty st Jaadt OL
03 /520 100 Junay 51 15}

I Sl bt O ke 1515 0 g0t e (%)) X bl S 0 gy
Qopt L5l ¥ Ll |

307



P é:LL\ J_...'J!

940 = (d) o 5l SNV Jutns

(40X 250 ¢ 1,) 10.000 = (D) & 5=t & 1al
iy 100 = (P) o 5 !

J.>50 = cl Llhallslae) &S

sd- Il /J.50.5 = ¢ éﬂl(k&\)w}ﬂ\mbﬂ
RdL =40(7) =280z,

2Dc. P
Q= ¢, P-d
2(10.000) 100 .
= . =1826 i
Qs ‘/ 050 100-40 ?

Qephl) 5hEA) 7 Leuall 80 Agaluaid ) Agasinli dglle laad 11.11
(Fixed - order quantity with backorders)
all g pde b Sag A SV an s g Saadl Slackdl
i Jog g pam SVl ai 05l i g5 ey = O3 e gl L1
(11.8) JSI b o 2 | S 321y

308



Al oSl e

M
AN
Q
Oyl LaS

g geu

L nd
L]

\ (| t! (| t> ‘I

. \ ! \ \
o7
gy pobasi VI el Ll las b s (11.8) P52
i,,lh‘l&oj.ubb,}idléuni‘.’l - ylow

oW kel daS

RN PR PSER (PR YO P
Al e 0yl Y A =t
Al § By sl i i 1SS =
.@\x&b;ﬂ|yib)ﬂé\ﬁ&£ = €2
Z..-,..JH:.UaJ\ = G

(11.8) JK2 Joilyy

"
Q

]
s
—

309



Ao PU Juadll

A1 N St U [T ISP PR L

M
—‘l
2
_Nitlcl
2
s A IR 5 g2 il O g 5ell e Jans g2
Q-Mh
; b
Q;Mtzc, 3.21.{:_,
t,+t2;;ﬂsd>\sw$ﬂlt,...¢
M -M
?tlc'+7t:CJ+C3
\:(§ 9l L SN LMl 3 O i SN s DLl Ol o
: D
Nl ode = | —
A (o]
ol IV 2SI O e
-D(M . ,Q-M
T‘-Q(zt,c,+ 3 t,c,+c2)

MJQJ!Z—.JL TCJJ.J:M‘(‘M'JQ‘:JA‘qUJ&u‘xJ

.~ _ |2Dc, ¢, +c,

. 2Dc, ¢, +¢c
MQopT=J c .ch 2
| 3

310




Al oSt ol
olacl Jans LW sty Lodl Ll s aas JoY1 Aol Ofs
Oy Al pnd (5 g2
=Q o Sl sy Sl Gy Lo L 1 22N J gl SLE
gV g Je T o Jrasi s Lt YoM

T= \/2Dc, Jc, +c,
¢ ¢,

.L\,'... [3a> 4 10.000 _ o5 & Lq,;..]lizllpcz.u

J

-1| O

1.3 Je.

105 2.0 g o gl 0y 3500 Sk iS5y U1 150 £ Y1 slas] 2SS
5&,}.1\3.»-,“)jfymthUl&Cuyljj(»éPISp
olkll (1) e 55 il Gy Ob Jl- W g Oyt OL e Jos

sl d el Ll s
:J
D=10.000 3.,
c:=150 J.»
=2 Jo
c;=39

« _ |2D¢, e, t¢,
QWT_J i J s

311



o G i

=‘/2(10.0;)0)150 ‘/2;5“445.3 s

(M) &l J gos g s alanll O jud! duaS
M < JZDc: Jc, +c,
c, c,

=\/2(10.000)|50 J 3

2 2+5
M= 1035 3da»,
Al 5 365l ey 4 plhall Slas Jlsae
M-Q=1035-1445.3
= -410 o> 9
(T) el 1 Sl 35 L Lo U1 a5
T=ch’ \[c,«rc‘
c, c,
2(150) [2+5
1000(2) S

=0.145 4w

I
T=7- leyd
2

Agphll A slawd 2id o Suaiall a3kt b} 11.12

(Price - break models)
= Ll o Uy iy ozl e ) IS 1 et a3 0L o jalt e

b g sl Y JEU o i T azca T i oy Undaite | g5 pondh i 2m
c..l;,,._—;hsgr,\,;7qls.,,(z,_.-....zp,,b)99-l an Lzl 13) 0n 53 10 S

312



el oSl

Us,l 135 .26 gdas 500 oo 28T 0o Lzl 13) eal 3 3 iS5 9 26 y-das 200 J) 100
il Lllall o) 23 g pldinzad Lde Cor yih 2l LS sa£ O

YY) IS il ] o5 Ay el L e s O
: JW Il Ui Ll e

A By ) 3 r dS JoE 0l Sai AISS O L5 13)
ipslasl a8 ST Ol il oy - jaee JS 226 EOG ol sty Y G|
sl EOG by Gl sy (11.9) JKN 1iSay sland il ae Jlans
ksl Y,

1100

1000 — C= S.W
_ C=4.50
900 C=3.90

660

] 7
~N \Z
1 1 | | | | | | 1 | 1 1
100 200 300 400 SO0 600 700 800 900 1000 1100 1200

16

(11.9) J<&

313



P ,‘pU-\ J.u'h

(118 Ji
;0L ke 13
D =10.000 iu>,
c2=20L.D
1 = 20% S jam -y0
C =i JI WSS

8434990 el oS JoaS=c e
349 999-400 o il SIS 1] J.ad4.5=c
Sty € 1000 o LIV SIS 1) J339=c

Tc=Dc+Q,,; =—¢, +%c,
2Dc,
Q..pr = c, =
>y 663 = Qopr c=35 5 Lr Qq,r

iy 666= Qur  C=4.5  x& Qur .

o>y 716 = QopT c=39 L QopT

Ay a1y Sl il e Sl 38 b s g (11-1) Jgad
.Guw,.,J.asl,:._..sJ.asb\,;s\stZ\w,,.u&squ..sun..'u&.\;.,

314




Sit

(€< ireta . sT9sP < - 66SSH - 06565 €[
00001 ($°t) 00001 ($'¢) 00001 ($°¢)
+ STy i T
-s29° -009¢ = 06§ € ("
73 rgrre i1l 0
. a
..um 00 < 00t =00C¢(
s 005 . <o . 000l
STy Komic /o (0200001 - (0200001 - (0200001
_uw -$ZCl nf =066 nf® =gz
T T
Sy <oy \pel 0 Q|ww: oXs'r) SN: oxs’r) §_.o oXs'€)
“T'A€=D *“1'A€=D “1'd€=2D
"y 2 — “ 0001
9=0  £9=0 €9 =0 w

“rfr (1)



o G i

AU PN M,W\Qgﬁ)w‘c.bxéﬂl(lI-I)J,.LJ:-\J!)B;JL_
5\..:.-J§JS.»-,633o\ﬁb‘ﬁd,&l@“\éﬂkqﬂﬂ,ﬁ\'wg
e o A5 b ilaf LS5 45 e i 9633 6l 2 Leanas 131 OF - 3000
3.9 jaumy 716 Llai Sasy .J.5 666 N LasH Glaiy .J.5 225 g4 S
Jgjf‘ i._...ihé,-.J \hdw“‘&&ﬂJéJW‘fﬁ\i&) Jo
.5.&.‘»)]000&5

3-1.‘5.1.0%53.1.‘,-..‘@bﬁ@b)‘ﬁéw‘g‘}sbhh&
Bl Jandaaza \S 815 -y

> & F A LS G golasit 0,5 Ob e 5 i O st ms
(11-8) Ji

o ) e Ld b daliz laS we el Cili Lae JUL
JS 03 o5 jae Jily b st ae LA o g ame Y e AL
Y el Slisl ll of 15 15 408

A0 Agiaxl SRAN Hefed Lavkio Apobuald¥ Aguliad g3gd 11.13
(Fixed-time period model)
A dze s U e Ll ad dazas 1 BIYI e g 31 Uiy Lady
el e a1 05550 b OF LW s sl a3 gl
s 255 G Ll o)

s al J gam o pladl ast (Safety stock) bV 0yl 5y Ol
.L;JLJ‘ AL OJ}!“ Q‘J.b

Oapll g b2 ae SV Gy b o f Bl 1 3 R oS O

316



Al oSl ol

(11-10) S .3 350050l 6 55 3 4 plall St (5 ge o] | o>V
JLLG!J.‘)_,(T)Z,AJ“ b\,ll;;bc.i:.l:.ll ::“)"“J"‘J‘f\k"“"-’C"ﬂ
;ﬁ,aJ...,-..,_&,;n,.:.nc,;,duausz:;..gta,_.tu‘dlauy\,u)z:,w\;,u.n
10555 q & plhall LS
10,555 Q &y llall 408N Ol d Jae g2

q=d(T+L)+Zo,, -1

P
Sl A INs b gz = d(T+L)
OLYI bl = Zo,.,
b bty gl 3 A O S s = l
A lhallisdl = q
Oyl it oL iza s b = T
g0y - Ml slis] 05 = L
T+Lif I oyl Ml e g2e = d
8342 5 0 IW gLl O puYlous = z
cadlal slue) + Lodball daomd 1o 3 5 IS oLl Ol 5N = . .

b g2aS et gl 32 5 (sax] il et OF Sau(d) Bl

O Kas (L) Lldadh olae] 5 75 5 (T) SRV a5 O J) DLo YL L doe yJt Ll

N Jaadl bl sae g Y1 B glas s Ja5 g - Maall oy 2l o8] i
RIPE NS PR -1 NS |

317



~ 4:&\ Jeadl!

SV ol

Ez)= Dr=P)
ET-I
—
0= huyo bl gadall pouald mad io g2l iyl sae = E(Z)
.c=1
Asllllobadl g ee = P

T O%e Ve Il = D,
Laolas) 3y adlall s 5 IR g lall Bl Nl = 6,
:(11-9) Je
SHA OV Oy a5 10 59l Lo i o p o0t Al Oy el 1)
il 55 Oy oty 3 (sale sokall O N Oy iy 3 (g5l

318




el oSl pl

Ll O o1 oy 130 Ly 14 Ll slas] e Ol Ly 30 SNV
S 34>y 42 x5 5 R LI § O 5]y SI8 Ul Oy 5l e LAl 6 g5
Al G by 5 g A Sl e oL (1) 0350

'

E(z)=21U—P)

JS b O oy (L + T) a0t 5 Al I (5,5kall Gl iVl Joesy

Oy = \/(30+ 14(3)° =19.90
JK (3 e 1 T i 2 IR (D)) & plhalt L dlall O S ada 4
dT 0,55(11-9)
dT(1-P)
c,'Tol.

_ 10(30)1-0.98)
- 19.90

E(z) =

EL =0.30151

H(11-2) dyadt e
E (z) =0.30151
(Interpolation) s_,l....-:l-\ b 2l b fl.u.:...l., 9
z=0.2]

319



7 U Jadl

q by, g5 4 pllall LS00

q=d(T+L)zo,, -]
q=10(30+14) +0.2(19.90) - 42
q=402

OF ot 33, 10 LaSUN O3 798 2y 3 520 0555 & phlall Ldlal) O Gl
0>y 402 F JE Y

(Chiolall dolalt A pally Cilylio ! Odue) Ml Awlyd 11.14

Nia § Jazty g sl 8 pLis )1y %1200 J1 o O g 5imadd 8yt d L s
oSy e b e J O iy d Ay e o) Byl O35
s o S dlly el 3 U e JE SLBYE S 5y
gBW b shs Jl Wl e ) i )l 3 gas gy bV S 5y

SN Jaai g 16/650 035 93 pieo W21 e 5 J) il SV oiS
Jarn5 512120 455 935 S 5 =Yy (L) 5 piall Ll y ( fi3) 3 inall
ALl M 5 SO Sl

O IR RUPRRESE NIV TR YR TR SRV ) [N PP
gl SN e N il 0da a0

gV 3 a3 b 05301 e S e Ll
A4S gl dnil ) dlgoas o
oS Ay L VTSN ous @
ol oa ha2lso OlIoas o
gl iy VI el pat o
g Ja ol s e

320



el Sl ol

sailylio YU g s Wdgilind hes 11.14.1

ASTEY S5y e Oy o 201 25 400 5ol o5 1 5l IS A
RERCE ) [IE YO AP S U JORSIPIES (R I T g et ¥
emaly ol 5l plasiand Say Y 1id g 25U

SV B g > S5 6 e B gdoy s I 3l 2y Ll
S UL Ol S it o f AW e gy Y My il ol
Oy ol 21 T390 Sl 035Uy ede J,ai-l;,ﬂ.._.\JCB,‘;Jl s Ll
:‘._jgbcs,.;hIhy}.&;__,bal\csu|yﬁéi!l_,}g.;

Zudam ol -l

sl Jeyds ol 2 Gise, -2

P gy el -3

O e Bl 0 I 3Uy ey Y 4
bl Jo1s o S5 ol Gl

it slael NS -1

09 AL Bl YN IS -2

Ogpllel 2 LIS -3
Sigeliall sia) dgibad hes : 9}

LS 3 (S) sty Ll QAT O ay LU Slae) 4SS 5l Sy
3 g La ey (Q) 3t 1 LMl &S e ¢ giis (D) &l d
bW & I bl LS Ol

Sl gally S AL 1) S e e Jrasdl SUL Y e
Ié\ﬂ‘d).\*—“_jw}hbY..»J.US_,JJJLL?UL.,'._J\Z__-LU\i....Sg.JL..’-

321



7o P Jadl

(11-2) J g
12/20 ,b) 16/650 ,W) ol
3100 10200 1991
3795 9800 1992
3400 10150 1993
3250 10250 1994
4000 9600 1995

(g e Jrars i Jo S bl SlaSU Gledt dan 2l st
LU} 10000 = 16/650 ;UM (5 gt Lollll LS
S 3509 = 12/20 ;U gyt Al LS
LU} 13509 = 3509 + 10000 = (D) ;U3 (5 st 4 dlall L.aS

:QV|&;°L§,L;J;¢J|_,(S)5.L>l,S|lrw\q;&__,w&&uﬁ,

b . J.260.6 = S-Sy 2yl y it o4 2ASS @
b /.J.52750 = Ll slas) e el gl o
b /.d.51500 = s ) llall & ey il IS o

b [.J.5650 = by ianddly il A foiSy 5 5l o jlas @
e \S ()3 1 A Ml QAT Jur) 058 ol Y1 Lin s

560 + 1500 + 2750 =S
Llb /J.54870.6=S

(D/Q) X 480.6 = LWl slus) 2l

322



Al oSl e

syl B 11 2] ylee 190
sl )l Ldlall LaS o g0 O sy O L Bl Y1 UK Ol Sy
i Ll S O Sy Ol st gl s QU (g gl ol UG 3
ﬁf\,i»\)l;b‘,ﬂéy‘a}gﬂmﬁah’qrﬁdrﬂwpﬂ,‘..‘

: S el

gl Jgea D MM o liss- .|
.ul,;_;qdbs}‘,’,\h,au..ll,a\l\}lybfJ:—b;)é.lléjs_

Sl o 1y 83 5 Ol s ety penad O ) Lzad JE59 0 ) 590 0

sde Hlay .05l b=V S Je il y YN gyl SN us

ool Jad1 3, b -1

Ui, b -2

N e T
JUly YV ST S Ol S el &b plasad o5 i
BMY i zad 0 720 YN il )3 o MY i Dl iy Aatall

At o 15 Gl
: e S AN ST IV A 055 Vi
Ly . Ja 1500 LBV CS 5y sl il -]

Uy .J.5 1236 Sy ity -2
Uy .J.> 135.848 bl 5 Sl -3
Ly .J.5395.8 SHBY s e 4
Ly .J.3 100 Lk JE4,e -5

323



o G i

U g . J.5 500 S Jadinit, -6

Uyr .J.52125 LW o2 s -7

Lyn .J.5 7081.648 bV O52 e -8
il (P Cptlad yorl e <

Jym 53V das ymay Cnlale Gaes 05l i § Jazty P Ll S5 (S
L9l o VN AUSS O Lia Sy 40t §.J.5250
J.> 27000=250x9x 12=

wpefminileas .
|JJ,.a;.;..um.u,‘¢.~¢sa\,1.;J1€\;;’Y:s,;.l\;au\ia,boi\:._.»
DU I laally VY a5 g seloV1 3 O as gl ol SIS O

Ly .5 850 s o, SIS il 33
1Al ANl e . o

OV Jan 3 g 35 Sy o pdt Jalpaly Sl Y Dyl i b
HROTS PRRT PR |51 P R TR I 354 JECPI 1 L UPSRUIRSSIRCY 1 5 VN
J._'\‘Ss.elﬂ‘ uL.o-ds..;LhdA) /0.5 leby‘éuh“
Uy sl 17=0.005%3509 = 1220 A jlb} 3 ikl iaS
Uy s 50 =0.005 X 10000 = 16/650 =AU} 3 ki)l L8
3 PO

324



Il oSl ol

U yir . J.545556 = 268 X 17 = 12/20 ,Ub} 3 kel 2415 O
by .3 2850 = 57X 50 = 16/650 ,Lb} § il LalSS

1T o 9 mTig (S5 dpyluas —a
U yee .05 12000 = Oyl e ol -1
Uy .05 150 = U ol yaWy il 3 -2
b yr .J.3 1000 = Ly Y -3
g .J.2 10768 = JW el 4

U yne J.566255.648 = Al w5tk O 30 Bl Y1 LIS YU}
S} 13509 2, (g gl 2z V1 408 oo
1l s gl (g gl o 3l AAUSS O

bl /J.54.9 = 66255.648/13509 (H)

49X Q12 = 0533l blaY1 2aS

1ty ol Akl oo 00

) 1000 = 16/650 ¢ 5 bV o BN (g st Cllall 205 O}
() 50) S 1,536 = o) 5 pay

W1 3509 = 12/20 ¢ 5 Y e 25 (g sl el S
(B o) SN /5102 = o1 5 jary
()31 ) 16/650 ¢ 35 o b} o) ) LIS LS

360000 = 36 x 10000 =
(C,u-t;f)c,\,u,w o 20 QAT )

J.> 7179918 = 357918 + 360000
325




£ G e

N CSS A as J5 A (s 5WHlY Cijlall i Sta

Y s
/1.3 Al i las
2.5 i iyl
/30 LS 2 iy )las
16.06 is 5 5 4als s lan g 4ra>
/2 4 pas )l
/15 Fe
10.5 S b
7.57.36 RPN

411797 = 0.5736 X 717918 = L3l Y1 Lalls
1129715 = 411797 + 717918 = &, ol &) LIS i

gl Aggliall (Q) Apaleailt Agasadl alay) 11.14.2
3 syl (2-3) Dslall Jlazely Ldlall LsladiVl Lasdl 5lg) Sy
eJe J.A.Ul
Q- 2DS

Q- \/2><|3509x48706

Q = V26855892
Q=5182 !

Ll G 4 5 A S (S (3-3) Dolall

326



Il oSl ol
t= 2_I)S.
J H
- ’2x4870.6
“Y13509%x4.9
Q=0.35
ey 127.75 = 365 x 0.35 = Jodb i 3 AW

ol LS LIS sl Sy Aol -pa
TC = J2HDS

Q=+v2x4.9x13509x4870.6
Q=25393 L.D.

gty dgeliall (Q) pabaid¥ Agasall alayd 11.14.3

10 gellall ahic] i dlsmd Yl
LA slas] Gl Aot Dol 3 (Q) J Rikiz iy s gad o3
t S s § e Jrandll bl o 505
LI sl 24l = 4870.6 x 13506 / Q

Sl slae) &S (11-3) J oo

(J.5) Sl s} dalss | Qb)) adhall a8 Sl s
4870.9 13509 |
9741.2 6754 2
12696 5182 3
19482.4 3377 4

327



£ P Jadll

LSS e J gmadl K el Jgadl 3 L e
Cost X 1000 LD
25
20
15
10
5 —
| | | | | 1 .
2 4 6 8 10 14
Sl slas] 4SS (11.11) S
193l L 1o Line- M1 i s : 1,00
99l Bl Y1 LIS Lol oladl 3 (Q) J iz oy a0 padl 02
I&LSJ}&JWM\LLU\JJ&J
09 Pl BV GG (11-4) J gy
(.3) 5955l Bls=YI S5 | (b)) ddhalt 48 Sldhall sas
33097 13509 [
16547 6754 2
12696 5182 3
8273 3377 4

328



el Sl ol

1(11-12) JSK2N e J gmad | Sy eRel Jgad G dacddl o g

Cost X 1000 LD

35 7
30
25 7]
20 7]
157

—

10

—

5

T
2

|

1 T
4 6 8 10

T_ 1
12 14

3L Blie>Y1 2SS (11.12) K2

o el LS S Lo i (11-4) J yodet e

gl S LK (11-5) J g

LS IS | Bl YIS | oA S | L0kl .S >he
(J.9) oyl | (J.5) Oyl (J.5) (b)) <Lkl
37967 33097 4870.6 13509 |
26288 16547 97741.2 6754 2
25392 12969 12696 5182 3
27756 8273 19482.4 3377 4

329

1(11-13) K20 e J gmadl K0 oMol Jgadd § il e




7o P Jadl

Cost X 1000 LD
35
30
25 7
20 7]
157
— el olas! WSS
10
5-
)
1 1 I 1 1 1 1
2 4 6 8 10 12 14
suel) S IS (11.13) J2

Bl V1 GilS 0 0555 Ay SN il idlSS olis dal o IS pog
2o ltmitns LS pmnlicn SO s OF a5 4l e 3alS 5 0 55nd
oUW S b 3y Bl Y AlS DL I (6o 5 Cllall g 8 5 ¢ pandl
e Sl y Ll olas) ils

Sy (Q) adall L5l Las 5lg) Ky (11.13) YK -y
e \S s U el 1S

Jb15182 = (Q) Lol s

= Lalas ¥ LSl 3 LI LIS Zalsa)

J.31155107.76 = 1129715.76 + 25392 =

330



el Sl ol

1l ydl 1995 Aiss I3 Qo g5k gt 11.14.4

pmaal] S Ao} Mo o ke Jramll e ghanld Ui
SlbS = LedicolUlhllsae

o\b12702 = sl g i) LaS

Ly J.26620 = 055l Blism Y1 241G
Gpe 024353 = ddlall slas) 2S5
1129715 + 30973 = LS 2l

U g .J.51160688

331



7o P Jadl
1dgabeaiBi) Agasiall i I kg golly 11.14.5

THIS PROGRAM IS USED TO CALCULATE THE PRODUCTION
COSTS

TO CACULATE THE COST OF PREPARING ONE ORDER

D: THE ANNUAL PRODUCTION QUANTITY

SALR: THE COST OF SALARIES

POST : THE COST OF POST

TRANS : THE COST OF TRANSPORT C OTHER: ANOTHER SPENTS
S: THE TOTAL COST OF PREPARING ONE ORDER

nnnnnn 0

WRITE (. *YENTER ANNUAL PRODUCTION QUANTITY (D) READ
(‘..)D

WRITE (*,*yENTER THE COSTS OF .....

WRITE (*.*)SALARIES ="

READ (*, *)SALR

WRITE (*.*) .. POST ='

READ (*. *)POST

WRITE (*.*)' .. TRANSPORT =" READ (*, *)TRANS
WRITE (*.*) .. ANOTHER SPENTS="READ (*, *)OTHER
S = SALR + POST + TRANS + OTHER

(22X A2 2 E A R 2 R R 122 222 22 R 2122 2 2 12 2 1%L )
TO CALCULATE THE STORAGE COST OF ONE UNIT C OBVON :
THE COST OF OBIVIONS

ELECTR : THE ELECTRICITY COST

WASTE : THE COST OF WASTES

INSUR : THE INSURANCE COST

SALAR : THE SALARIES

SAFE : THE SAFETY COST

INTRE: THE INTERESTS COST

OTHERS: ANOTHERSPENTS

H: THE STORAGE COST OF ONE UNIT

Q : THE RIGHT QUANTITY

oloNoNoloEoloNoNo NN Ne!

WRITE (*.*YENTER THE STORAGE COSTS AND SPENTS ...
WRITE (*.*)’OBIVIONS...... '

READ (*.*)OBVON

WRITE (*.*)’ELECTRICITY COST .... .
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READ (*.*)ELECTR
WRITE (*.*)WASTES .... .

READ (*.*)WASTES

WRITE (*.*)INSURANCE COSTS .... .

READ (*.*)INSUR

WRITE (*.*)'SALARIES .... .

READ (*.*)SALAR

WRITE (*.*)SAFETY .....

READ (*.*)SAFE

WRITE (*.*)'INTEREST ....

READ (*.*)INTER

WRITE (*,*)ANOTHER SPENTS ... .

READ (*,*)OTHERS
H=OBYON+ELECTR+WASTE+INSUR+SALAR+SAFE+INTER+OTHERS
H=HID

WRITE (*.*yH ="' H

C

Q = SQRT (2.0°D*SIH)

WRITE (..).Q ='Q

C 800S00 OCERRNEESESESESHEO0SSSOOSSSROOROSON
C TOCALCULATE THE ORDER PREPARING COST
C ORDPRP : THE ORDER PREPARING COST

ORDPRP =S*D/Q

WRITE (*.1YORDPRP

C TO CALCULATE THE STORAGE COST:
C STRCOS : THE STORAGE COST
STRCOS = H*Q/2.0

WRITE (*.2)STRCOS

C THE TOTAL COST
C TC:THE TOTAL COST TC = ORDPRP + STRCOS
WRITE (*.3)TC

STOP

I  FORMAT (5X./ORDERPREPARING COST ='/FI5.5)
2 FORMAT(5X,'STORAGE COST ='FI5.5)

3 FORMAT(SX,THE TOTAL COST ='FIS.5)

END

333



74 P Jadl

1Jiane 11.15
W Syl e () ) (V) e s -1

¢ ) sl I Llall e Lo ezl Ll slasl GSS -1

( ) o k5 et opp bl Olah ZAUSS 5 GBS 3 505§ -2

( ) ol Jad ST Jo sl Ui 3 gl (g 522 O (S0 Y -3
)5 0 3 dlal BLs] slay WG AQ oy sl oS 3500 3 4

( ) Ll Ll e e W5 Ll slas lSS Jaa ) -5
¢ ) Ll Ll Cas oy 5 Al slae] US4, 5 e -6

OV 4SS O dcctlall Ol o i) plhis 5 g 3 prammt 131 -7
) A I BN S e 05550
¥y ¢J.3 205051 )l Ll slie) QST i 1500 4 ol e db Luas 2 -2
(Je32 2l Jiam gl O g5l hadom LSS .35 210 dd O ) O1ARL) gty
bl Ll S ot -
O3 ) IV WS ot~
idoy 2000 505 b rar 18y MBI 528§ b5 il &S 2 -3
.J.30.195 v sl Lozl 3as I Jako RUSTy L JLo 15 Al slae) USS
Lp,o3646_,L.;4..J|uLU.9
|
S WSS Pl ae Ll ias -
A dotdhlisee -
Al N L,y g i AN D yb -
gl N A -

334



Al oSl ol

m‘,.kiﬂiéﬁhﬂ&ld&éﬂbﬁ,.DLﬂ\l@b@,K,& 4
JS_,.CJ|.L’-J4JGO_,}J|‘.’.\>)UL0JSHU|L.§3J’-‘,UC)_,}$J|“>
.JS..‘JLg@r,ALS.Fb;ﬂ‘mw‘4yb‘9ﬂ|w:\jb

YA

rol et o gkl

il s 5l 6 ) gadl 3 Oy 1 Bds USS (1)
=[5 (3)

At i il 35 gl § A1 o5l WSS (2)

DI(—S(H—f)+ Hq
q 2

C-=

=q* itlladbll (3)

__Jzox-ls(u-r)
= H

335



£ G e

Jon 7 5000 £aS0l 03 yp pdinimy | Jon pp 20.000 U yiv froiay b 4 -5
J.30.45 ax1 )0l Lol 52 QAT 5 0.5 30 Ll slas) LSSy L g
| C:_.,L..‘ 4L b il slae 3l gt e
ol Ll daS -1
eV A (S s -2
dbll sl s -3
AN YIS 4

ASS Sa I Ll ATy . e 40,000 g5 Lo ey AL S S -6
sy - o fai LSS e %10 55l O g 51 haid> 2S5y 0 J.> 100
1 G SN sl Uy ) b M)

Jrom | Sl gl sde

J.520 5000-0
J.s19 2,000 - 5,000
J.s18 :s1,25,000

:.,.o,u..\.l
EOQ il Ll iaS ot -1
ool ST ) I Y1 S i oyl -
Lol e dl e L) 3y 500.000 6 5 e Sy i) S 2 -7

GSS e 10 Oyl his 2SSy Jo 100 a0 k) AUSS,
I el Gy ozl ot 1 5 Sy - el

336



Al oSl e

prow | KFEE N UV

J.>20 6000-0

J.> 19 12.000 - 6000
J.>20.02 30.000-12001
J.>20.00 s1430.001

Zg,\ﬂ\
EOQ it Ldlall S st -
el LaST e W QS et -

-1 I LMl 2SS )y Ly 3y 100 (5L Lol 0L SIS 15 -8
el B U .52 050 Sk 2SS 01 J.5 10 (g 5ls
(o AN Dl S5 Bl ik AN Lol Ll s -
il Al b a5l AU Y1 2SS -

’
O

Sl ol e NI GAd Al

W s AV pme - 21 <10
P [RTSENU
N et 0yl ol -0

d)ﬂ‘ra’&;}??ﬂ\#@\ﬂb -11

Lt U s g e LW Ol WYY Al <12

337




£ P Jadl
I il a2l -3
ROVRIE N PR NS EPS Y
.QHH.&A‘J&J"&‘ -
VLS o el 2 - 2
el (o jE ot ) o led A UL Al
bl Bl Y1 (g 3 oo pUiS (e gl ot AL AL <14
g

el a5 Lgle oy A Sl 03 5 02y S <15

338



Fas HUII) Juai
Y behs ol &t

e Syl Sleg 090 of) 139D 9 iy
U &S 09 « )UYW bg b & 1 SLD\e
0 3D S39509 Sa_plgeg « JLLGY by b
BLE p Sl Jua il gyasaiy LeS . g1
Exsgasn Jl @8LLYL « i N bk el )
Slas @ 38 cp M ésylailly Jilu bl ¢y s

RN 0 3D 6y co\Raian







12 el

JHRDY laglad pLIR) Ay yid
Waiting line theory

:dadde 12.1

Fh ool Je dauly 5% 1900 3 WY b s 4l o ¢b

BBl by FIly el UL Al (" Sy «(A. K. Erlang)

Y laall Jg g sbs Slids Sl LB UL O 3§ by
Agylo¥ Sl dagt Sl oY1 ot el y Laad

Jy‘,hﬂrumig)haﬂula;u‘fsdtuébpw‘ |M4J)L:.od)-
AUyl B aay & gkl Sl Jall dajles 5 0

QUATIY loglad plid) Adnde 12.2
a&‘dbquuabbﬁm&;r&&xbuMhhﬂk
ol = O e o b - b 2V e SV - G gl - 548l
Lids y ‘f'_'" e = gdlly Lb Il ya) Sl @l - denye J
A3 Ayl Sladl Gai s UK OB Slasll e gt s d
oA 3 AALL) &2t Bl y Sldally DYV o 80 2SS Ly el
fye pdey PUH OB 53 J) BLOYL - &8 sub Sy Sladl eda

W e 2515 5 40 0 4S5 ks s s 0L DU ol

341



o g Jadl

o= b Laslr LS G el ol Gy 3 Ol oS Jas S

e g Aoy daeldl ol 5 sas d,égﬂ\&;ﬁa‘  plhall
WSS 03k ke o g = oWl Jaadl Dl 3 byl saadl e 28T e
Jenedl Ui J L3NS DU 0da £t 53 0555 O g QU LIS G 5e B
b Lahisul) L0541 3 99 Gl 5on dmad) foaf e o lany Y Ly el 2 1

VLAY Ioglad Oilduslge 12.3
3 Jraidly UVl st lislgoy DKo b gy (12.1) o5, JK2I
S ia a3 A1 IS
(6) (3) 4) (3) )
g s Pl Uyl | Jye
«— . [€ < v
(M

SasY das il go g e (12.1) 1 K2

(Population source) aiigali phae 12.3.1
ihe § ol ald ol gl 3 ool I jaany Sleall janass duai
342 i 0,55 Ulaly ssag slael 33 yaall 0,8 OF Kt ey . Slaad!
3o o Sl s A b aae § YY1 sae Neas .(Finite of infinite)

.(Finite) 5 ya£ 54s 4¢b

342



NV I plast plla; &

CF I FR PR W PR TRy UK -+ PRRCHIV Py (VWA U FR P Y
5 JE oSary Gl i Aly wag o b L ) Lol
122 S 3 oW

N Y

N

[pvd AL ,.t-

sl p g S22 (12.2) : JS

((Arrival characteristics) Jyslgh Gldeslge 12.3.2

(Pattern Arrival) (ylwigh daed 12.3.3

o o ibrey b oSl Sy Wl ol ) W2 b 055 O S
O gl ) el Heas L oleadt g Leadt 81,0 J) kol Nl laS g U ooy
(S AT gV pUl §sadl ol JUH dacdy g dned o oadae i G
zg;u\f\,\ugw&_nd.a__.azf\,lg@;,ﬂ\ab;,&\éy@a»;b;,\d,
S Ue IS sVl ey Shill ae Sl Lt sl bt § 55 5 o
s ddena)) lhaall ol o § o35 &y g1 o ghaik g O pdall b ghass . dplalt oY
ot 1 3ae 25 g0 3 oSl Sy SYUR eda e Gy it g2l L 3
P RV> MICHVRE T P Y

343



o g Jadl
SNyl G5 Il Lol 3810 B} pesWdlh sk G ULl oSt S0 Y
R WL\ pE

:(Size of arrival unit) Slesill jmlys 1} Aliolgll Slgall aaee- -2

Aty Loadl S 0 0 Lok 34 &a Jo bl 1 0, S
o'l Jo o ot e 0,8 OF Skl ey ez V1 LY 25505 1 Joes
oy alia Jle caoly OF 3 et 510 5 da e Laadl il Sl

R cadmly Dyl e ol i Jlelie jlile AL
(Distribution of arrivals) Jalelel ag)es -3

G ool oy L3y Sl ol fe ol I w5 3R b 0y OF Sy
.(12.3)Js;3pc.a,,,,\;:L,L..;,_-,upét;,.fuy,-

LTI

Nl

QUJ;}J,@US)HQ\;,JJ,&JCJ_”(IZJ):JS.:

ot oty I A 36 ) Il Wl (ot 1 a5 3 ) e
iaS o Jan s (T) Gy jne oo il gy ol 5 5 Vg Bl g1 J gy S,
(12.4) KA e ga 48 S 8302 L2058 3 INS ool Il 20s oS

344



ATV b glass o & J00

[ N

et ey 350 IR (ol gl s o s 45 (12,4) : JS2

o @i 055 i O B Sliall ey d b L) 1)
AW Lol N Dol J (12.5) st 3\ s (Exponential distribution)

(=xe™ e (12.1)

(V)3 A 3 ooty J o et J22 £ (1) S

f(v)

1
— =k
10 — A A
0.6 —
0.4 -
0.2 — \
T I t
1.0 20 30
A=12 (N a3 (12.5) S

345



Ao U Jadlt

t oo e Joas b g W dall O Sl s g2 JUIV J 5

t F (x)
s> 0 1.0
I 0.35
2 0.15
4 0

éc.a,Lté,g\@,-,ﬂu_,_,.T;quaug,uul;.wu,anslu

O Ulyis odyoyy T3 0 N 0 kot )t s SNy (12.6) K

Dolally Jany Ay (Passion distribution) Olu g a5 95 e U pede a2 S
U sl )

_ (lY)c" 2T
P(n)= M e (12.2)

Sladst b 045 O oo (ol 0 1 o0e Jl O e 5 (12.2) slall
(A = 3) 015 (3) oo skl p Ui 3 oo 1 2 OIS 13) D2 (T) e 55401 3
1O sdo-l g 3250 SN oS b oo lm 9 S I\t 0\ 3 5
(n=5.T=1)pus

(x e’ ™
p|.5 = S!
3c5 ]
~ 120
P, =0.0101

=2.025¢*

.Sb\J@asﬁéjhjSJ,&jb)'/.lo.lJ]g;..._.l.h_,

346



,u'.:.;\hb,l.sfth;ig,l'.;

fl1)

3=2 Ja i

(12.6) Jse

Iyt dhau gy Sl 5959 It V1 2555 b pm OF ey S
REESURVICT N P T
:JWt gt e (Erlang distrbution) (5 A o) FOEY ) Ny

kY(kkt)t 1 eU.l

==

| o | .
o7 =l Ol == el

.Jﬂu?,.u\kq,5141@5;;,,&;1:;:.,.@..,%,,,5,[&:?

B B ik =2

ol K3 04 (12.7) JK2 s o o0 S K dac Ui

347



PN

(Degree of patience) (nluolgl yUaZilhp-ys 4
S Johll ‘..AJUT-:.H s> Y ey b g 3,60 e itan it oy

a5 e SN b g o el ol el e Ol g
Sﬁlxo))igw}abii-\ﬁﬁd&b)))&bY‘L»J,LL\P&MC’
P 3 o BN )l 3 A5 s b gy ol sl ol
(Physical feature of lines) dgagdall yUaad ¥ oglad Gildasige 12.3.4
:(Length) JUaiY las- Jels -1

Jegb b ca (infinite) > yaeM Ll O Lhaadt bl o iy palt oy
,,,_.J_A)w|,1&)w4;|xg;,t,tz,J\_s,;,Jt:,i._...ximM:,,-uy
& ...CJ....JQJ,;'-;:,SJ;C\J

St dagy olidly 04 I Slhae JEe Jyhll 55 gasdl b ghdl Ll
.é!l...g@'ﬁ\é&éabwbx&,sabl,.i\yw,
:(Number of lines) JUaZi¥ doglas sus -2

I d s Ly ol iy ple Gu b e o0 last S a1 ekl deaiy
byl dx 5 SN 3y 50k Sleas dag gl gl SN2 ol e cpian
«J.u‘ A SNE O rae 3 b b 3 g3yl Slhae Jl  lad ol W ssaaze
-d.“)l\ Sl (Sl Sleds (BoLdl Sleas caaald-| ‘_.j g)\hh J‘:’\.—T
P s K Sl ik Uiy gy e ST a5 Iy &
W3 e 5 A Sy chasnld @5 1 o 1y S5 5 g

348



SRV b glast ol &

(Selection of waiting line JJAJ¥ loglad D g 11.3.5

3 Jia Ay 00 g5 doadlh aaddt D W g oy SRS Y stz
= HaVl e a5 e - SV e da ze - GV e (3 L oae
asddll Slead-l sasaS

First-com ) Yl Lt & a5 Yl Jay gl by 0 o n
.(FCFS) (first-served

eellally Loty ly &)l Slaadly Ll 3lyV1 3 et b L
.‘c" oo J:L’.&Jl,

B 3 o2 Al UM e Lol Y S Sl gV s O Sy
Syl Oy - St b G O - ST ) Gag A0 i) s
Gt 4 ga ) G O gy I = et ot gl = e gas O 0 Yk ans Jolad
(Service facility) dadhii Alane Oldeslyes 12.3.6

aadd) Gy U gz o - Lol o = 15 a5 as VI dast 0, OF Ky
Jome J0 8a ) b Jad 201 by 0y Gl decdhd £ g fe ia aing
Jely
(Single channel) us-lg (9o b 33yatl HlaZi¥ 5L3 -1

Gaddly J o N LhS o e glall g5 s Bas BSL) g A
L8NS & pil>) Sl I - (550l C;j,'Jl ¢y Il

:(Single channel multiphase) (s ge2e b 33yatl HlaZi¥ 5L3 -2
e e By Lo gt 3 oz Ay Sl Jomd e S I
g bt Gt el 2T A aadl il & SV il ¢ ot

349




o el

:(Multichannel single phase Js-l9 (§92uus P CilgB5u0 -3

b yhast § ol iy O pm i — bl G jleall (b 3 U aa Jea
Slaslall gy U Elalaad Gy Sl 3 &6 ) dazady dplioay &30 g0
Aaad b o g gl b yl1G 5t 5 O g3 oy
(Multichannel multiphase)mbl&'&.a@mabﬂ 4

Gzl Sleadt jam e O SN ae LI YU J) 3 lie Db oda
Sloas J paks Ay arzdl  pan M J s Jle iy il d bz
o g ide Ay aladl JLBYNG 2 ] Jar 2o Aol y dadze
(Mixed channels) alalZineClgld -5

Badaey £33 S J) SN J oy o Aalindl ot il 355 O o
ldezey 3 5 Slads J1 O ybds s
(Service rate) aadial apiis Juas -6

‘..g.wg-,.;olg_,-..ﬁm,achsdm s b edd | Jdaay dads
L Uy daadt O5ak cpddt 5L ol J gy Jaal Wiy (g olaze Leadl
(WY Tl g 5D LI L 10,5 bie T oda Joad

ot it g 3Ty pLal (gl oy ) st g pacdt Aot Jotaa Ul
33aaze gl Sodaze dedst g5 gl 83540 L5 35 e Rl Lan (Erlang) o) 5
el

((Exit) goghdt 12.3.7

OVt G s b last daghie 3 & plall daadd O el 15)
v

350



SRV b pass ol &, S0

1l 5 1 et ) o e Y or 2 O e -
.6;\;,.:,.\1'\,.mu=..ajlaw,:>wc;,:gJs.x,oi;,s.,_ -2

W L YUy 595 2365 Do J) 2o TN W DM 2 2 Sy
A Comal L35 I Bl ) g Jg ) oz VY o Whad 65055 Wn  ghas o5
UAD Y logladed Agrig ) bl | Ddggad 12.4

AN A 1S e 5 ikode Ul fo Juadlllia e e 1V g 22
¢ (12.2) ((12.1) Jyadt § b mos O g Ay eV Do gl (o) Lol
(12.4)¢(12.3)

(Model 1) (1) 6y daed -1

b ey 3yl cond G b Sl Lk 4 ald) O s
U g Jane O cnd 5 Ol 310} IR gy oball Do St )
peip O L Ly 3563 3 asmt gt O3 deass Jame Oy 2Ll /15 4a
(exponential) J aaf laadl a5 oly (Poission) J pa% kel )
A ol Jall |

S alldfisls -l

A U oas v e -2

U Y das oyt § 5L s o gis -3
WS s (3 5SW e W e i dav g2a 4

Aaddt oy U5 3 o UV e glice 3 p 3301 e o e =S

351



- \,'L:!\ Jadll

(12.2) J g

Infinite queuing notation (infinite)

Standard deviation
Amval rate
Service rate

= Average service time

Average time between arrivals
Potential utilization of the service facility (defined as A/p)

= Average number waiting in line

= Average number in system (including any being served)

= Average time waiting in line

= Average total time in system (including time to be served)

= Kth distribution in the Erlang family of curves

= Number of units in the system

= Number of identical service channels

= Maximum queue length (sum of waiting space and service space)

Probability of exactly” units in system
Probability of wailing in line

(12.3) J g

Finite queuing notation (based on Peck and Hazelwood tables)

SZr—=xmTmOQ

XgCHD Z

Probability that an arrival must wait in line

= Efficiency factor, a measure of the effect of having to wait in line

Average number of units being serviced

= Population source less those in queuing system (N - n)
= Average number of units in line
= Number of service channels

Average number of units in queuing system (including the one
being served)
Number of units in population source

= Probability of exactly n units in queuing system
= Average time to perform the service
= Average time between customer service requirements

Average waiting time in line
Service factor or proportion of service time required
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(12.4) J g

Equations for models in Exhibit 9.8 (see Exhibit 9.9 for explanation of
notation)

_ A2 - A ( AIA)"

n, = t, = P=|1-=]=
Model | H(p-2) H(u-24) HAH
' A

ﬁ‘z E‘z; P:L
| HK-A H-A H
'ﬁ= lz -= l
Model | ITU(TEEY S R TU TRy §)
2 _ _ A -
n,=n,— t, =t +—
M H
A'Ql Q
] e
U Q
zee
i W W ]
Model _ - ]
Q Q-
3 1-(Q l)(l) +({;‘] I—5 »
= _A n N P - p (L)
Qe n Qe
(I O Ce
i M H ] | \m

(E) +A'o’ »k;,~+l.o’
n, =K Y —
Model 2{ l] z( ).)
4 1--"- 1- -
4 m M
A, =, i, =i,
H K
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Model

Model

Model

_ _K+l ¥
7 2K p(u-2)
___ A
n=n+-—
L M

)

I= _ A
n =n—
m

P 1

= P
" (M+D!(Mp=-2)* °

= |

"l

M!

i=K+I_ A
" 2K p(p-2)
- -1
t, =t —

A

This is a finite queuing situation that is most easily solved by using
finite tables. These tables, in tum, require the manipulation of
specific terms (see Exhibit 9.9 for notation)

T
T+U
'
P = N!
4 (N-n)!
L(T+U) LT

X=

X°P

(]

W=

N-L H
n=L+H

H=FNX

L=N(-F)

J = NF(1-X)

_ T+U
TT+U+W
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Ao SIU feadlt

Program Details (13.1) J 2>

I. DEFINITION
O=(BARBER)
@QUEUE=(0)

% ARR = (0) % SER = (0)
%M ARR = (24:0)

% D ARR = (6:0)

% M SER = (20:0)

% MOVE = (0:30)

* ARRIVE = (XY(12,11))
*BARER:= (XY(38.11))
LEA VE = (XY(41.6))

J = (1.%.1,0,0,1.500)

U = (1.BARBER, *BARBER)
2. ROUTEINGS

BR( 1. * ARRIVE.%ARR)
RV(U.%ARR. %M ARR,
%DARP)

IV(@QUEUE)

FV(*Q DISP.@QUEUE)
MR(23.%MOVE)
MR(*BARBER.O)
DV(@QUEUE)

PV(*Q DISP, @QUEUE)
RV(E.%SER.%M SER)
WT(%SER)
MR(2S.%MOVE)
MA(®LEA VE,0)

ER

: background filc namc is BARBER,OL Y
; record the numbcer of customers in queuc
: random intcrarrival/scrvice time

. mcan/dcviation of intcramival time

: mcan value of service time
: move delay time
: ammival/scrvice/Icaving screen locations

. location for displaying valuc of qucuc length
:customers routcing. total S00 customers
:count utilization of the barber

: 1. CUSTOMERS ARRIVE

: gencrate random intcrarrival time

: queuc length increascs |

display qucuc valuc

: movc toward barber to get service

: 2. CUSTOMERS TAKE HAIRCUT
: qucuc length decrcases |

:display qucuc valuc

:take a hair-cut time

: 3. CUSTOMERS LEAVE
: lcave barber shop

A: Courtcsy of Mr Sun Qi Zhi, formerly of Manufacturing and Engincering Systems, Bruncl University
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Table 15.1 Initial Table

G 0 o P 27, P 0 P, P,
CB, v:?al')clc xx, x d d d, d, d, d; [Soluion | Ratio
P, d, 1 1 1 0 0 0 -1 0 10 10
2P, d.. l 0o o0 l 0 0 0 0 6
Ps ds. 0 ] 0 0 l 0 0 0
0 de 0 0 O 0 0 | 1 -1
Ci-Zi | ps 0 0 0 O 0 o0 1 o 0
P» 2 -1 0 0 0 0 0 0 20
p: 0 0o O 0 0 0 0 | 0
P -1*¢ -1 O 0 0 0 ] 0 10
* Key row ** column

53 [JEH B PRCHK S of By 4 FOIES
The computation of the values for the criterion matrix is:
Ci-Z,=0-(pi +2p3)=-p: - 2p;
C:-Z,=0-(ptP)=-P1-P3
C-Z;=p;+p=0
C4-Z4=2p3-2p3=0
Cs-Zs =p3-p3=0
Ce-2Z6=0-0=0
Cr-Zy=ps-(-p1)=pstpi
Co-Zsy=p2-0=p:

10p, +20 ps (VN gl e 5 gaall S 30 055

Cj - Zj b yaall Lsl) 5 yaall Jhiy G - Zj U SNalall (2U5 dn,
5.1 Jgadt i o
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Xi 3 gandl jlatt on e 4
.dzd;aJléUSJ,f)Zg-rif.JJi‘&iéqﬂM\Jl:;s-lﬁ -5
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Table 15.2 Iteration 1

G 0O O P, 2P, Py 0 P, P
B \x:;c x x d d d, d, d, d, |Solution | Ratio
P, d,. 0 | -1 0 0 0 -1 0 4 4*
0 X [ 0 0 | 0 0 0 0 6
P, dx. 0 | 0 0 | 0 0 0 8 8
0 ds. 0 0 0 0 0 | l -1 2
G-zil . [0 0 o o o o 1 o o
P 2 -l 0 2 0 0 0 0 8
P: 0 0 0 0 0 0 0 | 0
P 0 1* 0 | 0 0 1 0 4
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:Cj-Zjare LS cwawad
Ci-2,=0 )
C-Z=0-(pr*+*P3)=-pP1-P3
C-Zy=p-(p=0
Cs-Zy=2py-(-p)y=2p; + pi
Cs-Zs =p3-p3=0

Ce-2,=0-0=0
Cr-Zy=ps-(-p1)=ps* P
Cs-Zy=p:

80402 2o p1 O yieall Jraid 15.2 Jgud 1 § NS
Sy X2 3 gaadl 3 GinT Oy Ay pr cinall § DL S Pl Mgl
Prieall Gl pidsly o i o 5 5%
i grded Pl 1520501 J s o J puad by
153 J gt 3 aiif o Say Ay (A1 i) I )Y il 1)

Table 15.3 1teration 1

c, |o o P 22, P\ 0O P P
B \x:aclc xi x2 d d, d, d, d; d; [Solution | Ratio
0 X>. 0 | -l -1 0 0 -1 0 4
0 x« |1 o o 1 o o o o] 6
P, | & [0 o a9 1 1 o o of 4 | 4
0 d,. O 0 O 0 0 | 1 -l 2 9
G-zZ| » [0 0 0 o o0 o0 1 o 0
P 0 0 | | 0 0 | 0 4
p o o o o o o o 1| o
p [0 0o 1 o o o +w o o
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The expressions for different Cj - Zj are derived as shown below.
C|-Z|=0-0=0

Cz-Zz=0

C-Zs=pi-(-p3)=p1 *+ ps

Ci-Zy=2p;-(-p3)=ps

Cs-Zs=p3-p3=0

Ce-2¢=0-0=0

Ci-Z,=ps-ps

Cs-Zy=p:-0=p;

L g2 A Cj - Zj oMalas jlastl of b yaall 3 PI aalt Of Loy
i g W gl Jo 154 iz g dl sgeall 3 -1

Table 15.4 Iteration 3

C o o0 P 2P Py 0 P P
CB, \x:;c xi x2 d d, d; d, d;, d; |Solution

0 X2 0o 1 1 1 0 o0 -1 O 6
0 X | 0 0 1 0 0 0 0 6
Py dv. o o0 -l 1 l 0 0 0 2
P, d. o o0 o0 o o l 1 -l 2
G-zil p [0 0 o o o o 1 of 2
m [0 o 1 1 0o o g o 2
p: o o0 o0 o0 o o O ! 0
P o o0 |1 O o0 o0 o+ O 0

418




ssaadll GlaYlae ,

1Cj-Z) b paiasy
C|°Z|=0-0=0
Cz-Zz=0
C-Zs=p-(-p3)=p1+ p3
Cs-2Zs=2p3-p3=ps
Cs-Zs=p3-p3=0
Co-Zo=0-(-p3+Pps)=p3-Pps
Cr-Z;=py-ps=0
Cs-Zy=p2-(P3-P)=P2-P3+ Py
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